TS EAMCET 2015
Medicine Held on: 14.05.2015

Hall Ticket Number
A s No. 24342

(To be filled in by the candidate)

Booklet Code: B

Sig'nnmr;;f the Invigilator

b

10.

1.

INSTRUCTIONS TO THE CANDIDATES-
(Read the Instructions carefully before Answering)

Separate Optical Mark Reader (OMR) Answer Sheet is supplied to you along with Question
Paper Booklet. Please read and follow the instructions on the OMR Sheet for marking the responses
and also the required data.

Candidates should write the Hall Ticket Number only in the space provided on this page and
the OMR Sheet. Do not write the Hall Ticket Number anywhere else.

Immediately on opening the Question Paper Booklet by tearing off the paper seal pleasc
check for (i) The same booklet code (A/B/C/D) on each page, (ii) Serial number of the
questions (1—160), (iii) The number of pages, and (iv) Correct Printing. In case of any
defect, please report to the invigilator and ask for replacement with the same booklet code within
five minutes from the commencement of the test.

Electronic gadgets like Cell Phone, Pager, Calculator, Electronic watches and Mathematical/Log
Tables are not permilted into the examination hall.

Darken the appropriate circles of 1, 2, 3 or 4 in the OMR. sheet corresponding to correct or the
most appropriate answer to the concerned question number in the sheet. Darkening of more than
one circle against any question automatically gets invalidated.

Rough work should be done only in the space provided for this purpose in the Question Paper Booklet.

Once the candidate enters the Examination Hall, he/she shall not be permitted to leave the Hall
till the end of the Examination.

Ensure that the Invigilator puts his/her signature in the space provided on Question Paper Booklet

and the OMR Answer Sheet. Candidate should sign in the space provided on the OMR Answer
Sheet and filled-in application form.

The candidate should write the Question Paper Booklet number, OMR Answer Sheet number,
sign in the space provided in the Nominal Rolls and affix the left hand thumb impression in the
nominal rolls and filled-in application form.

Return the OMR Answer Sheet to the Invigilator before leaving the examination hall. Failure to
return the OMR is liable for criminal action. The Question Paper Booklet shall be taken away by
the candidate and should be preserved till the declaration of results.

Filled-in application form shall be submitted to the invigilator in the examination hall. In case of
SC/ST candidates who have not furnished the caste application number in online application form,
attested copy of Caste Certificate should also be enclosed along with filled-in application form.

This booklet consists of 61 Pages for 160 questions + 2 Pages of Rough

Work + 1 Title Page 1.e. Total 64 Pages.
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Time : 3 Hours & Marks : 160

Instructions :

(1)

Each question carries one mark.
(28 |2H)H ¥ Srdy Sod.

(i1) Choose the correct or most appropriate answer from the given options to the following questions

and darken, with blue/black ball point pen the corresponding digit 1, 2. 3 or 4 in the circle
pertaining to the question number concerned in the OMR Answer Sheet, separately supplied to
you.

BMHS a0YS (D8 (DD adgwdS 8S" DOTHS DIrgrS Db 25150 oA
wroow woB 1, 2, 3 9% 4 I av3)d OMR Jdrged JHESdns” (D4)H
Dow0dod dowghv P8ES ar/uel o8 drowod D) SDTrAoD JodHT.

BOTANY

A cross between pure breeding plant with red dots on leaves and pure breeding white dotted
plant produces heterozygotes that have both red and white dots. On self pollination of F,

what fraction of plants show both red and white dots on the leaves ?

dere NS Ao o) B [ S Beopdors Hodywesd) Hd
B8 & Do¥¥mo Tdbm JHH H0S» B HoWyeo Todr ady A
dndyero ad3)8 Johagron. F, & 2300 Boddjo TRIHG dEero N
QEDY So0dl» BwP Hdjyw Todr &) 3w o do (fraction) Jod?

(1) 3/4 (2) 1/2 (3) 1/4 (4) 2/3
2. How many phenotypic classes are produced for a-pair of characters in a monohybrid test
cross 7
28 28 ofero LOAHHOAS IE Do¥dod® Vg vo¥dmo Ho IV ygdrd
gsren SJr0n?
(1) 3 2 2 (3) 4 4) 1
e
Rough Work
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3. Study the following lists

List-I List-1II
(A) Operon (I) Binding of repressor proteins
(B) Operator (II) Binding of RNA polymerase
(C) Promoter (III) Inactivated by inducer
(D) Repressor (IV) Binding to polynucleotide phosphorylase

(V) Polycistronic structural gene regulation
& (80d Dol wEgohdo Fobod

aDo~-1 aDoe-11
(A) 20°S M) B»>b P88 20d8HHL
(B) ©5B66 (Il RNA >OHTE 20dS8HHG
(C) (3r0b () (&80T dbgdgo Vobadodod
(D) B»>6 (IV) >05rg8cirsh &&Jhééﬁa 200850Hb

(V) S0%F95 Jomym adogdH) dobodm

The correct match is
ad HoTHS 8oy

A) B © @O
(H vy @ an  (mn
(2) (Iv) m (@  dn
(3 iy vy avy @
4 1 av) mn (v

4. Escherichia coli, in which both the strands of DNA are labelled with '*N is transferred to
"N medium and allowed to replicate for three generations. Find out the number of hybrid
DNA molecules in the third generation.

DNA Bod Sen PN & s Bohadd 2¥)0Ralr 5535 N do ssrsgos®s
58y Bardo Sore 8K BYHBEIHETE. HardS $506° Ho€s DNA o
QoPLH ESR"ID®.

(1) 10 @) 8 3) 2 4 12

Rough Work
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5. A DNA segment has AGA GCA ATA CCA ACA ACC nucleotides in a sequence. The

segment of polypeptide chain synthesized from this DNA through mRNA has the following
aminoacid sequence
2% DNA 208808° AGAGCA ATA CCA ACA ACC o3 $rg8TirB86w S|S0

éamyon. & DNA %004 mRNA orgor bodRodwdd é-ﬂn:rn::éa fPenbd®D
oS wiro SHJHED0 6 Fom GTyon

(1) Tyr — Cys — Trp — Ser — Gly — Arg
(2), Arg — Tyr — Ser - Cys — Trp — Gly
(3) *Ser — Arg - Tyr — Gly — Cys — Trp
(4)» Cys — Trp — Ser — Gly — Arg — Arg

6. Study the following lists

List-1 List-1I
(A) Cellulase (I) Cell wall of bacteria
"(B) Chitinase (I) Cell wall of plant cells
(C) Lysozyme (IIT) Proteins
(D) Protease (IV) Cell wall of fungal cells
(V) RNA
& (S0d 2rderod wdgdhdo Jdbod
ZDo~-1 aDor-11
(A) egDE () w=r§0cire ¥ngdso
(B) B83& (II) 308 Soro SwEdSo
(C) B8&F=ED () 2SS0
(D) *STHE V) 300\ ¥ero En¥dSo
(V) RNA

The correct match is
ad H0THd FfdoYy

(A (B) (© (D
M V) avy @  «an
), () av) @ Jm
3) ap @ av)y ([m
@ v @O dJn @

Rough Work
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7. ‘Tobacco plants resistant to Meloidegyne incognitia were developed using a method of

cellular defence which relates to
{I%Aclivalinn of specific mRNA .

(2) Silencing the translation of specific mRNA
(3) Silencing the transcription of specific mRNA

(4), Activation of specific t(RNA

DS ondRY aSshyhdr JEGES NS S Bnfobs SErEHTeIS
GHTrAoDS EndEin BB 48 Jowosowod

(I 233
(2) 23R
(3 ;}a:&
(4) 232

mBRNAS: ﬁﬁ&: HE S

tRNASS :&ﬁa‘&vd Sad

mRNA Gn%) @I EI050 2Byoh (Silencing) Sosnb
mRNA T®E»E) 05TpI505 28y0h (Silencing) D dsnd

8. Study the following lists
List-1
(A) Vector
(B) Downstream processing
(C) Cry II Ab
(D) Transposons

& 80b rderod wHgono Bood
doe-1

(A) &S0

(B) eddarde 8%

(C) CryllAb

(D) |&royTFr

The correct match is
ad HoTH ='doD)

A B (€ (@O
1y aw v O
2 av) (v) (an («dm
(3) (Im vy «avy an
@ av)y ap @O ™

List-I1
(I) Resistant to cotton bollworm
(1I) Mobile genetic elements
(I11) Controls corn borer
(IV) Ti plasmid
(V) Purifying protein in biopharmaceuticals

dor-11
() %8 ordarb)H (HBIG°FES
(1) Sod 2dgddodw
() H8s ch &OT YPoih Achodm
(IV) Ti ar%ydo
(V) 25 Thgrod® FES HEDEWH

Rough Work
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9. Identify the correct pair of characters of a bacterium which is useful in production of
methane

(I) Recyclers of inorganic nutrients
(IT) Present in stomach of cattle i
(III) Obtain energy from sunlight
(IV) Aerobes

NBS 68318 ToHerdE adTWrAoT 2 §00HS: Ty BOTHS ofmro wds
f8odod

() owoBdcsh Fasto PSS §dsrw

{11}%4;;5;.:: 245°908* aotrow

(I) Br8g8% %008 43 Fo&erown

(IV) S EHen

(1) (1, 1v) (2) (I1, IIN)

(3) @, 1) (4) @, 1v)

10. Which one of the following variety is resistant to white rust disease
(1) Pusa Swarnim (2) Pusa Sem 2
(3) 'Pusa Komal (4) Pusa Sawani

898 HoHB Bown 7gH8 (DIIGFES SrH o

(1) [rr Dg8o (2) Jprd> S 2
(3) S %S 4) Yy Do
Rough Work
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11. Which of the two statements together supports that respiratory pathway is an ‘amphibolic
pathway’ ?
(I) Fats breakdown to glycerol and fatty acids, subsequently yields acetyl co-enzyme “A’.

(I) In respiration, C-C bonds of complex compounds breakdown through oxidation leading
to release of energy.

(I11) Acetyl coenzyme ‘A’ from the respiratory pathway is withdrawn for the synthesis of
fatty acids.

(IV) Proteins are degraded by protease to amino acids and enter the respiratory pathway.

& (808 @ Body argpged Erd TIO B w¥ “azfoss #5805 B0 wda)

D?ﬂf{:m

() §Hgoo, ADOS Hr0osw FTPY wIrom ;J{}‘:,iﬁla Bod S850880 v NS
§'-d38D» ‘A bﬁgﬁﬂ"u&:

(I agd3d%es” Dofd E':ﬂ‘g't:rci‘ C-C wogren uiyEdmo o°g0° DY) B
$32 ddodo WBInow

() D2 BS §ITES ‘A’ oo gD DFo Hod wchedd Y wdro
b0RaeR8 Srsdderow

(V) @EBoen, (FETHE orgor ©HS vdroom IDYH) Fo. TIOEET S$os's
(333 0m.

(I]_ (11, II1) (2) (1,11 (3) (L IV) 4) (I, IV)

12. Identify the correct pair of combinations
() Zeatin — Adenine derivative — Overcoming apical dominance
(I C,H, — Indole compound — Effective in fruit ripening
(III) ABA — Carotenoid derivative — Induction of parthenocarpy
(IV) GA, — Terpene — Bolting in cabbage
HOTHD oE¥DoPH Ho =8l HfoSos.
() 205r8 — Y PO IS) G& NS S0 — BT ELSED JFHdaron
() C,H, — 206'S Trdssn — Horo HODEZEH &5 do
(Ill) ABA — B&'Grond add1d0 — wdas Hod el
(IV)GA, — 6835 — soB2S" 5°Q0h
(1), (111, 1V) (2) (11, 1) (3) (I, V) @ 1 1V)

H

Rough Work
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13. Study the following lists

List-1 List-11
(A) Munch (I)  Stomatal movement
(B) Darwin (I) Hastened fruit ripening by volatiles
(C) Cousins (Ill) Growth of coleoptiles towards light
(D) Levitt (IV) Nature of enzyme action

(V) Bidirectional transport in phloem
& 800 wrderod wigahdo Wabod

doe-1 Doe-11
(A) dwow (& Sozre Jodo
(B) @08 () & 30 dorgrody duro HELEINEDdG0
(C) 820 (Ill) |FroHd ZohE¥dw srod HAme "wdfdo
(D) BA& (IV) d9z Sorg dgamdo

(V) 0¥ Snzrood® 8204 Saver
The correct match is

2d DOTHS Fdoy)

A @B © @O
() @ av) (v
(2) i) vy (O ap
G avy M @O dn
4 (v) am an @

14. What 1s the type of nutrition in purple and green sulphur bacteria ?
(1) Chemoheterotrophic (2) Photoautotrophic
{3’3 Chemoautotropic @}) Photoheterotrophic
DS Ho0ain wHDBI) Doy e300 Fan S¥o J07?

(1) 8cHd HEDUNSo (2) 508 bgoho Fudo
(3) SJradd” Hgodo Fado (4) sr08 DEFudo
Rough Work -
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15. Study the following lists
List-1 List-II
(A) Viroid infecting tomato plant (I) 6,500 nucleotides
(B) TMV (1) 300-400 nucleotides
(C) Polio virus (1II) Two identical molecules of RNA
(D) Lentivirus (IV) Many sided
(V) Prion
& (80D whE oM g0 Sohod
ahoe-1 Dor-11
(A) & HrE" SoE) & Ho(gow Sorawd (1) 6500 Jrg8TIrBde
(B) TMV (I1) 300-400 Jorg8odrBdown
(C) 0T IS (Ill) Bodo Jr&rdgd fo RNA V0P
(D) To8 I8 (IV) 25odwwo |
(V) (205D
The correct match is
ad HOTHIS £'doY
A~ B (© (D
(1) (1) (V) {m (b
2) ap (@ av)y (i
(3 (I (@O aAv) 1y
@ (I av)y () @
16. A taxon belonging to order sapindales has a single seeded fleshy fruit with edible mesocarp
and stony endocarp. The number of carpels in the flower of this taxon is
odie Hood® Bo¥wrod sodidoidarad) 00w 83 Hodg So¥ddos® oS
QS I7) 59A 403 2§ &SR F2odOD (¥5rR8 Bod Goknod. & &Sy
By, Dayostd Hodvro Dowg & DSom dodnod
(1) 2 2) 3 (3) 5 ‘4} 1
17. Identify the correct pair of combination
(1) Aspergillus — Meiosis occurs in asci — Produces citric acid
(1) Albugo — Coenocytic hyphae — Parasite on mustard
() Penicillium — Basidiospores — Multicellular
(IV) Colletotrichum — Conidia — Smut disease
50 TS Fo¥oPe 28D MfoSod
() edy8es — v Rod® Fahidm IPFD 28808 — DIGBE w0
LR
(1) Hﬂijﬁs — DFDEE SobHoPow — € BoE) D Hord)E
(1) 2RO — BoATWrI* oo — aioémalndo
(IV) £BE BgpSs — FAGMHH0 — S8 Shw
(1) (D, (D) (2), (1), (1) (3) m, av) 4) 0, av)
Rough Work
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18. Study the following lists

List-1I List-11
(A) Genetic nature of RNA (D George Gamow
(B) Binomial Nomenclature (II) Hugo de Vries
(C) Triplet Codon (IIT) Frankel Conrat
(D) Ecology | (IV) Warming

(V) Gaspard Bauhin
& (808 zrderod wgdhdo Tohod

ardare-1 Dol
(A) 26.08.2. zdogdeeo (I ai'“§ mare
(B) &gardo Frab¥dmo (D) Sgh* & (2%
(C) |88 Bosdo () |2 0388 §*Ro°&
(D) 8d8m 3390 (1V) a"ﬂg_oﬁ

(V) 3530 e

The correct match is
ad HDOTHD FdoH)

(A) (B) ((©) (D)
(D, (1) vy @ (IV)
{‘Z)j (Iv) () (I (V)
(3), (i) (v) av)y (o
4) (Iv) (v) (O D

19. Identify the correct pair of combination
(I) Chara — Monoecious — Chlorophyll a, b
(I1) Salvinia — Homosporous — Free floating hydrophyte
(1) Ectocarpus — Filamentous form — Chlorophyll a, d
(IV) Laminaria — Biflagellate gametes — Haplo-diplontic life cycle
DOTHD DoFAoPo =8 HdoWod.
(I) sro° — &gforrfow — HET0&0 a, b
() dedasr — ﬁ:&:h%ﬂﬂﬂﬁga — 8D 'i:sﬁgnv 8T Jw¥),
() IE°s7838 — dododrdo — HBT~0d0 a,d
(IV) o*03005r — Bg¥agfoing D00 derer — Dﬁ-dscﬁaﬁgaﬁ 22 (g0
(1) (), (IV) (2) (1D, (I (3) (O, av) (4) (1), (I

Rough Work

AM 2015 B 98




o A

20. Identify the correct combination

(1) Pistia — Discoid stem — Lateral branch with many internodes

(2) Neem — Absence of buds in the axil of leaflets — Pinnately compound leaf

(3) Sunflower — Opposite phyllotaxy — Inferior ovary

(4) Canm—Fl-::uwr:rsbiﬂlglumsalmhcighldmmwﬁedlmgﬂlsnfpedjmls—MIWQTM

HOTH FoE¥DoRPDs HgoNod.

(1) Dposr — Js°F stodo — 03E S HPgdrod SOAS TR

(2) 35 — Hgso Lﬁa‘ﬂﬁ‘ Bofen S*Doddo — Eﬂ‘QE‘ﬁ Doding H|Ho

(3) ;‘:mﬁgs*oeio — oDdop JBITgI0 — D&y woardado

@) 588 — Dajdoerw IV JEHS” ao0d Do) &8 IRS' Godbo —
maﬁ@@a—-‘gm

21. Three plants (A, B, C) are observed. ‘A’ has suckers. The edible parts in it are the inflorescence
axis and juicy succulent bracts. ‘B’ belongs to family Moraceae. The edible part is succulent
perianth. In ‘C’ polyadelphous androecium is present and the edible part is juicy succulent
placental hairs of endocarp. Identify the types of fruits in A, B and C respectively.

(1) Aggregate fruit, berry, pepo

(2) Sorosis, compound fruit, hesperidium

(3) Compound fruit, syconus, berry

(4) False fruit, aggregate of berries, hesperidium

Sards BoLeso (A, B, O H08003d0 =0A08. ‘A Dof InHol €04

Got00d. BAS* Phay Jovgdo wFo Sodw EHBnS, VPO PR YR T Y

83 oo Gotrom. ‘B’ BrTv HewowdE Toddod. &Ds* 83 rdo

EH08 HOHEren. ‘C'S" iy wodd THoS9 aobod. 8% o wod:

HoESS0S%) SHMBNS, EHY0S wodargd Iroo. A, B 5000 C Ingod™d

Hore Isrod S8dm Hdodod.

(1) Hogd8Hovo, Hyddvo, I

(2) S, HoT@WrAHoo, W 0dD

(3) boTBrHHoo, NEID, Hyddoo

@) uBy8H00, HYHorods ErdS VodIHoo, WHHBEMD
e
Rough Work
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22. ldentify the plant which is not having unilocular ovary

(1) Chilli (2) Cucumber (%J Cashew (4) China rose
EDo o HSTY ¥OA Godd ISy HdoTod.
(1) odd (2) H%onb (3) 285708 (4) Hooord

23. ldentify the wrong statement
(1) Conidia are formed in Alternaria.
(2) Plants produced vegetatively or asexually are called clones.
(3) Organisms exhibiting external fertilization release a large number of gametes.
(4) Development of embryo from fertilized female gamete is called parthenogenesis.
P05 argwgde Mbovod
(1) ©9T 805rs" 8B 8 ydarown
(2) ©ZBons D& do &chHddom Q83 B od §'P0w wowrd
3) orgdHodEdn Sro EPHw do@drEdarods NESPRY :’:uuqagd" Do BIon

(4) 90888 Tobd B9 HDoTrd Dzo H0D Dodo AEELD) wdwI=ddo
[LTeTApte S

24. The character associated with the plant in which pollination is by Tageticula
(1) Perigynous flowers (2) Marginal placentation
(3) Pentamerous flowers (41 Trilocular ovary

rEofHgor So doiRdondyo 20T JEH Jowohodd wEwmo

(1) DEgods™¥ Paryw (2) Gdrod wodargdo
(3) Do rHdnd Paryw (4) (BDodind voaridho
Rough Work
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25. In plant ‘A’ the seeds will not germinate until they have l;:een exposed to low temperatures
in moist conditions in the presence of oxygen. ‘B’ plant flower has basal placentation and
head inflorescence. In ‘C* plant, flower has cup shaped thalamus and the reproductive
organs in it are enclosed by two petals present on the anterior side of the flower. Identify
the following characters found in A, B and C respectively
(I) Slightly curved embryo sac
(II) Micropyle, chalaza and funiculus are on the same vertical line
(1I1) 180° curvature of the body of the ovule.

‘A D€ gTre viyS H%¥0s® B0 'éﬂ?ge‘jaueﬁ" $€)5 e HS0H
2T FSHIThHg HEH w0003, ‘B’ 30, Payos 58 wodargdy Hodaio
38358 PA PTG §8n sotol. ‘C By Dajest ATF08 DA HITTERO
Go&n0d Hodasn P08 Hogodod® @od Tod usdm S (DSgS )38
womod £ aGoderon. A. B %0050 CS* Ed%od & (50b 0¥ oM
HEBm HBodod

() Pods'do §Qm HoP B0 Gotwod

(II) wodorgdo, Seorer, vwoddyodo 28 0N 7:5:9:@ w0d dodron

(II1) 180° S*e0d® Hod) BOAS wodBE o

(1) (D, (n, (i) (2) (D, am, M @) @ i, an @y am, (n, (n

26. In a flower of a plant, the number of carpels is equal to the number of inner whorl of
perianth lobes and cotyledons in the seed of that plant is 1/3 of carpel number. What is the
arrangement of ovules on placenta of the flower of that plant ?
(1) Parietal {2)_ Axile (3) Marginal - (4) Basal
2§ Jn¥) Vusy ﬁg}&&ﬂcf‘" nodyro Dowg SPHO $0cHodtd DoOHE B0
bomgH JHFH0 B0 DE50s* Dadvren, Dolvo bopgd® 1/3 agmyon. ©
30g) Pajods® worw wﬂda‘g‘bgﬂﬁud‘ D ©508S* Godron?
(1) %sg (2) oo (3) adodo 4) ©8

Rough Work -

AM 2015 B 128



/B

27. ldentify the series in ascending order with respect to the number of cohorts present in them.
(1) Heteromerae, bicarpellatae, inferae, calyciflorae
(2) Inferae, calyciflorae, bicarpellatae, thalamiflorae
(3 Heteromerae, disciflorae, calyciflorae, thalamiflorae
(4) Calyciflorae, thalamiflorae, bicarpellatae, inferae
0B JDIwrHto Dogrgdlom & (Fmod &S |ES00S* H20080d
(1) 86°0T, Bs*0TB, av D0, sSOVFT
(2) a” T, 5*O2VY*T, BS*THTY, ST
(3) we36°w 3, :53:3,@_“?:'5. 502 T, ST
(4) 5°02PF, oWV, B BTY, ad DT
28. Study the following lists
List-I List-I1
(A) Golgi apparatus (I) Circular DNA molecule
(B) Mitochondrion (II) Synthesis of carbohydrates
(C) Chromatophores (IIT) Modification of proteins
(D) Cytoskeleton (IV) Pigments
(V) Proteinaceous structures
& 800 FhErod vigohdo Bakod
doe-1 rDor-11
(A) n'g 20880 (I) Syerse8 DNA v
(B) S&°seo@a%s () 8" )@ JoFde
(C) §*8r&*Pben (Il @3 Srroddo
(D) e H%&anﬁm (IV) S8 |Bargen
(V) (850508 Jomyeen
The correct match is
20 DOTHS oY
Ay (B) () (D)
() am vy avy (@
(2) ap av)y ) o
Gy Ay @ aAv)y «(v)
4) (v) anp «av) (dm
Rough Work
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29. Identify the correct pair of statements

(I) The alternate name of thymine Is 5-methyl uracil.

(1) Arachidonic acid molecule contains less number of carbons than palmitic acid.
(I11) Cellulose contains complex helices.

(IV) Aquaporin is a polypeptide.

D00 TEPYO 2ddS Hdodod

(1) BN HEEDH 5-03S gsnornd

() ©odEE vd vy a5 eNo ol Sy d EEyTod EON sotod
(1) engs™® Hofa HOyoroR $OA Gotwod

(IV) 5700 28 FOHRE

30.

#—

(1) (1 1V) 2) (1, 1) (3) (1,10 (@) (L 1V)
Study the following lists
List-1 List-11
(A) Anaphase-I (I) Splitting of the centromere
(B) Anaphase-II (1) Recombinase
(C) Pachytene (111) Sister chromatids associated at their centromere
(D) Diakinesis (IV) Chromosomes aligned on the equatorial plate

(V) Nucleolus disappears
& 1300 erdorom Efﬁgcﬁafm Sohod

o1 ado~-11
(A) Sos8%-1 (I) 200o[E* Wb JFzdo Fodso
(B) Seods4-1 (1) ds*0DID
(C) &HES (I o(E*wohbo 5 JFEY S*Srsboo 50D Gotron

(D) BSrERDS  (IV) §'Srstswes Hdgp D6OE 5§ @b Goron
(V) Bo|8stoddn wodgridhod
The correct match is
ad HOoHd £ doW
a ® © O
1M O @ avy daj
@ am @ a )
(3) () Vy ((an av)
@  amn vy av)

Rough Work
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31. How many chromosomes are present in each of the following with respect to maize plant
respectively ?

(a) leaf epidermal cell (b) antipodal cell
(¢) endosperm cell (d) generative cell
(e) egg cell (f) megaspore

(g) Microspore mother cell
BoE) &°H) B % Bowohod, HEBSY, & BHIIDYS TIST IV S-S Sow

SOL”oN ?

(a) DS gId) Swdo (b) (D8>S Feodw

(c) uﬂﬁaﬁxﬁ;}-ﬁ ¥ea o (d) gevy88 Sodw

©) 99 Dz Lodw ) pro DE dadw

(@) gy DG Dz Srd€)¥ Ewmo

(1) 30, 10, 20, 10, 20, 10, 10 (2). 10, 20, 10, 10, 10, 20, 30
(3) 20, 10, 30, 10, 10, 10, 20 (4) 20, 10, 10, 10, 20, 30, 10

32. Which of the characters are found in cells producing primary tissues ?
(I) Rich in protoplasm, conspicuous nucleus.
(II) Thick cell wall, few plasmodesmatal connections.
(II1) Thin cell wall, many plasmodesmatal connections.
(IV) Lignin in cell wall, inconspicuous nucleus.
TEDE Enarorod 6838 TH forod® ) oforw EXVIon?
() 23%c°o w0, WHHH Bod So8¥o
(II) H08R05 EwsHP0, 55 SpEJV0E VOQI° W
(II) D03 EmESSo, En@Sgpod wodare w0

(IV]BF‘.:LEE‘ 85 fnfddo, ©d)a s So|8¥o.

1) @ 1v)y ) 1 3) (1, IV) @) (1, 1)

Rough Work
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33, Identify the correct pair of statements from the following
(1) Primary phloem is commercially important in flax.
(I} The food materials in water conducting tissue are stored in thin walled cells.
(I11) The water movement in vessels is bidirectional.
(IV) Mature cells where hydrostatic pressure increases during sugar transport show the
presence of peripheral cytoplasm and absence of nucleus.
& |B00 TES* HOTHS Tgwge 2D #:80%0d
(I) &5y (SN F*aE Ewzroo sdugbdomr adrAo
() HB8D HEho TJosn Emerood®, EmdHorgwy DoSm al) Soo T¥eLts]
borgrody Jug B ow
(III) H8 JSodo ordhavod BgdFT NS0
(IV) 5658g Sorod® 25, B8 338 o 200MH&d)dpdo zoDdd )8
a28trdoos’, T8s* H0do% Eo|ddgo od, So(@fo &odd.
The correct pair is
ad DoohS =
(1) (II, IV) (2) (11, 1II) {3) (I, II) (4) (11, IV)
34, Study the following lists
List-1 List-I1
(A) Cultural services (I) Nutrient cycle
(B) Provisioning services (I1) Afforestation
(C) Supporting services (I11) Flood protection by mangroves
(D) Regulating services (IV) Petrocrops
(V) Recreation
& 800 rderod ©ggaihdo Bo%od
o1 =aDoe-11
(A) H0Hy )8 Howod DHwW ) 2z odcro Soddrw
(B) ddhHo Srd Dden (II) obd S8%o
(€) word Grogs Hdw () Srofirse orgor H880 Hod SEm SONoBEO
(D) ﬂcﬁbauﬁtﬁ"ééﬁ Ddew (TV) ".:.::IL-.‘.':Fri Sws) o
(V) wbddD)
The correct match is
ad HOTHS oW
A B) (© (D
(Hh vy dm @ dAv)
(2 av)y anp Jn (@
3) (V) av)y (O ()
4y ap @M (I (V)
. —_— e
Rough Work
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35. Identify the correct pair of combinations
(I) Vallisneria — Long stalked female flowers — Hydrophily
(I} Tribulus — Annual — Root succulent
(IlT) Hydrilla — Submerged rooted hydrophytes — Aerenchyma
(IV) Casurina — Perennial — Phylloclades
POOBS F¥doP 28 HBoSod
) 033005 — 343X Syoeredo by DAy — zodo %0080
() Gaogod — o — 1083 S
(Il Zridor — A8S* 5000 @od of €8m0 Bobdd S0EH oo — Frosn Hrod
2280 Smerwo
(IV) s*2* B> — pTosr8 o — dErdstoaren
(1) (, I (2) . (11, 1V) (3) (I, III) 4) (I, 1V)
36. Find out the correct pair of statements

Rough Work

(I) Incompletely plasmolysed cell, pressure potential does not contribute to water potential.

(II) If a cell is placed in hypotonic solution for longer time, the cell membrane shrinks
away from its cell wall.

(IlT) Apoplastic system comprises of interconnected protoplasts.
(IV) Polypeptides have more imbibing capacity than polysaccharides.
200D Tgwge =45 MHbodod

) o Snddg DofWo Todd Swrost I8 dwsst basiE M
D GodSs

() 28 7)) woyTd |[rdmos® &gs*m} GoVS Lol {m¥SJSo 08
£0wWoo8"Y oo d

() &30 vodgro DgEY WY I359S° dodood
(IV) 47360 €0 FODREO IFHIE LD
() (L 1v) 2) - (1, 1V) 3) (1.1 @) (L 1V)

h
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Identify the physiological functions of two microelements, of them, the former is required
for the synthesis and the latter for oxidation of IAA respectively.

(1) Constituent of chlorophyll molecule

(I) Maintenance of cell turgidity

(II1) Splitting of water in photosynthesis

(IV) Co-factor for carboxypeptidase

(V) Component of methionine

56D oS80 IAA JoFh ok, Tos'd IAA ¢8 EEndH odD8HThy Bods
gy Faso 08 8 dod Hfodod

() {08 vmPHS” 28 o

() Sero Dysods Doxnowads (Maintenance)

(I 8&madg DoTWrH(8cshes® J ABHED

(1IV) s‘mgﬁa:‘ﬂ‘ég'&‘ﬁﬁ DarstdEo '

(V) 08Trde vldobio

The correct answer is

20 VOIS JAIrgrNo

(1) AV, 11T (2) (I, V) (3) av, 1 (4) (V, 1)

38.

Identify the correct pair of answers indicating the reactions catalysed by “Isomerases” class
of enzymes.

(I) Conversion of glyceraldehyde-3-phosphate to dihydroxy acetone phosphate in Calvin
cycle.

(II) Formation of malic acid from fumaric acid in Tricarboxylic acid cycle.

(11T) Carboxylation of phosphoenol pyruvate in Hatch-Slack pathway.

(IV) Fructose-6-phosphate formation from Glucose-6-phosphate in EMP pathway.
“2d5TE T Y ISBSow ¢8)9000T D SPge 245 JrDoT dIrerad)
28030,

(I) s9g5 Soddhod® ﬂﬁE‘Q:J‘E-E-é‘iﬂ;}Ei B @8y JDE'S @"f-:;]ﬁ_n‘ Srddo
(I) B95°0°)8)05 Hochod® PHgH0§ wHo H0d Hr05 w0 A8 B
() &=5-°§ H&oSt IF\G>S _’_&:daﬁe'.i' s'u'aﬁhﬁﬁﬁ zadido

(IV) EMP $&os* ﬁrﬁ‘ﬁ'—ﬁ-v@'"fa;ﬁ' %508 Lﬁg‘ﬁﬁ-@'%geﬂ' DS ydbo

The correct pair 1s

20 DOTS =8

(1) (11, 1) (2) (1, 1v) 3) @, 1V) @) (1, 1)

Rough Work
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39. The number of ATP molecules formed from 8 molecules of Hzﬂ due to noncyclic electron

transport and subsequent photophosphorylation is

[Assume that quinone cycle facilitates the transfer 4H" to the lumen of thylakoid membrane
for every two electrons passing through electron transport system and one ATP is formed
for every 3H" moving down the proton gradient by the mediation of F, - F, ATPase]

8 woHHo H,0 508 oIfoH Jogyd Sarer, 85088 708 @*ﬂ‘gﬂﬁﬁﬁ
2ddom bﬁ;ﬁ ATP voopo :fm:gng

(D0s*98 Sarwe argor oo (98 Tokh JogiSoH 8388 Sodho 4H o
Bosrond 33N orgDSSts 280 THodd ook (DS (DInE M
a4m Fy—F, ATP Gh# orgos (dairddod (28 3H' o%H 28 ATP 283885089
gr2odod)

(1) 12 (2) 8 (32 4 (4) 16

40.

The correct sequence of the involvement of the following components in non-cyclic electron
transport

oS3foh JosT9S Fawrd® FST & 18300 vdoHbso HOTHS (FHod

(I) PC (I PQ

(11T) Pheo (IV) Fd

The correct sequence is

Q0THS DBV EH0

(1) (Im, 11, 1, 1V) (2) (1, I, I, 1V)
(3) (1L, 11, IV, 1) (4) Vv, 1, I1, 1)
Rough Work
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ZOOLOGY

41. The cells lining the base of the intestinal glands that secrete lysozyme are

(1) Paneth cells
(3) Parietal cells

(%] Brunner’s glands
(4) Neck cells

vo|d (fodre wordod® ¢od BIETTod (B0 wrew D2

(1) 558 Eoreno
(3) Hdg¥eren

42.

(2) 23)6 |Hodoew
(4) H& Zoren

Match the following with reference to geological time-scale

List-1I
(A) Origin of trilobites
(B) Origin of ostracoderms
(C) Origin of fishes
(D) Origin of amphibians
(E) Origin of cotylosaurs

List-II
(I) Silurian
(II) Carboniferous
(I1T) Cambrian
(IV) Ordovician
(V) Devonian

T HS0ETS (HSEH0 61 (808 T wSHENSH®

S8¢-1
(A) ByS°BY edomydo
(B) u’gjﬁ‘ﬁslu wdomySo
(C) Jdo ﬁau‘a)éu
(D) adch PHore H:}D‘l)ﬁﬂ
(E) s*8&°bo ©I0°)H0
The correct match is
ad HOTHS =*doH)
(1) A-II, B-IV, C-I, D-V, E-II
(2) A-lll, B-V, C-1, D-1V, E-II
(3]: A-ll, B-V, C-1, D-1V, E-III
(4) A-II, B-1V, C-II, D-V, E-1

Rough Work

AM 2015 B

SE¢-11
() erdcHS
(1I) 5'6‘33"3;65
(1) SoDcHS
(V) #8°2%0%S
(V) 85°0%%

20 S
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43. Identify the correct passage of spermatozoa in male human reproductive system

(A) Vas deferens
(E) Ejaculatory duct

(B) Epididymis (C) Urethra
(F) Seminiferous tubules

(D) Vasa efferentia

DD PSoA (Pdogs 8 DIV VowoBodd Do DOTHS |HaSrn Bl )

ﬁaqﬂ__uﬁ:&’:a:
(A) HEavaorE

(E) Jp0d8 sr¢fd»
{1; F-BoA->D-SE=SC
B->D->F->C->A-5E

(2

(B) Q@83 (C) (D oES»
(F) %.:Lgiu‘gﬁﬁ FJDEen

3) BSE->C—>F->A-5D
4) F>D->B-o>A->E-C

(D) HE0Ee

44.

Choose the correct combinations

List-I
Class
(A) Turbellaria

(B) Trematoda

(C) Cestoda
(D) Phasmidia

List-11

Character

Mostly free living flat worms with mucus
forming rhabdites in body wall
Commonly called flukes which bear two
suckers

Ecto and endoparasites Body unsegmented

Amphids performing chemo receptor
function

& 800 DBwonS ‘J:Ebl#a'ﬂé: %0 0S5

SSE-I
Jertiio
(A) &8 Toos
(B) B&&ar

(C) »¥a

(D) %808

(1) (A), (B) and (D)

(3) (A) and (B)

SQE-11

ofoo

DT yEPHw, B Hdgost Farydy
DEYOT oo oI QT 5O 0 &0
LY Frordmom 25y wodrds.

D38 Bods Srd scenotron

2 v g $8Bw wodS Hovdy) EHew,
B508® podydssn I&

$0DE I cHE (rIrsteomr HITFow

(2} (B) and (C)
(4) (A), (C) and (D)

List-I11
Example
Convoluta

Bilharzia

Echinococcus
Trichuris

étgﬁ-lll
GO S,
S'ésm‘sﬂ‘

M
Rough Work

AM 2015 B
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45. Which one of the following is the correct statement with reference to Ascaris

lumbricoides ?

(1) Digenetic, dimorphic, coelonate and histozoic parasite

(2) Monogenetic, dimorphic, pseudocoelomate and coelozoic parasite

(3) Monogenetic, dimorphic, coelomate and histozoic parasite

(4) Digenetic, dimorphic, pseudocoelomate and histozoic parasite

(08 &AS" 80D woDSToNEDE DooRoNS VOTHI oI BwPD»
(1) HeedFow, BIErDE, JuI0E HTE H0Gw FnEro oD ED

(2) I5°8Tow, BYErDE, Wergfbs HITY, EndHird Hos)ED
(3) 25*8Towm, HRU,DHE, JudddE HITE HHddn Emereo Hor52D
(4) Ogwd8Fow, HYYrdY, Wergd08 HITY, Emaro HovH ED

46.

Match the following with reference to endocrine disorders

List-1 List-11
(A) Addison’s disease (I) Hypothyroidism in adult
(B) Cushing’s disease (II) Hypersecretion of somatotropin in adult
(C) Cretinism (III) Hyposecretion of glucocorticoids
(D) Myxedema (IV) Hypothyroidism during pregnancy
(E) Acromegaly (V) Ower production of glucocorticoids
Sr3d ::‘5‘3’;5;1:: ¥DPHoH JBouodod & 800 TV BEDBLIII®
og8-1 S&E-11
(A) ©8&35y a7gd () Prdos® dBoondz
(B) $0hRy Do@So (1) Ddos® Pirs® |B*DS ©05°8)3
(C) (380 (Il #r8°s*dstond es®y843
(D) 885~ . (IV) d8y0 )5 995° DoV JForowdad
(E) &5*ormrd (V) #r8's8sranbo ©5°84d

The correct match is

ad DTS =doYP

(1) A-II, B-1V, C-V, D-I, E-Il
f%) A-Ill, B-V, C-1V, D-I, E-II
(3) A-V, B-1V, C-lII, D-II, E-I
(4) A-Il, B-III, C-1IV, D-I, E-V

Rough Work

AM2015B 22 S
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Choose the wrong statement with reference to smooth muscles

(1) They exhibit prolonged contractions

(2)}‘ Myofibrils show alternate dark and light bands

(3) They are spindle shaped uninucleate cells

(4), Their contractions are under the control of autonomous nervous system

NNR) FodoroXH DowodHodd HOSW a*gq:g;&é BLoRHD®

(D ®d &gsto Doforod IrPeron

(2) ™rg) ¥ods dohPw Istodom A od VAW 5708 Dok (HEBIIow
(3) ®) $03 us$oS* ¢0Td ¥ ToB¥ Forewn

(4) I8 JoSIBn JvgakoTtad a‘&;ﬁga&% udHSos* aodod

48.

Identify the set of secondary lymphoid organs from the following
(1) Spleen and lymph nodes (2) Bone marrow and lymph nodes

{3}. Spleen and Bone marrow (4) Bone marrow and Thymus gland
Fo8 &JS° 838a% Doond edchare zdd #80Sdw.
() 2T dn H0d» FRED FmPhw (2) oY Sz 0w FAsd Smodw

(3) [Edo HoodH 0 Bz 4 oY Hg 0B BHS (Kod

49.

Identify the wrong statement with reference to the functions of lymphatic system

(), It has no role in destroying the invading microorganisms

{% Transports digested fats to the blood vascular system

(3) Lymph returns the absorbed nutrients to the blood

(4) It transports lymphocytes from lymph glands to the blood

Fasd SgOY VB0 Jowoodd VO argwedd K30 0wrHw0

(1) $*28 ST80d drg 2390 FEnB0HS® Iwdod JES KA doddd
(2) 28 335 §Hy ‘?b-::-'g'u.ﬁa g8 D08 SRV BESAd08o

(3) FRgI50 FFRodS Fasrod 80A 508 T

4 28D (oo 08 FHRED Fwod 15_5_06‘3)5 8 e D ol b

Rough Work
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47. Choose the wrong statement with reference to smooth muscles

(1) They exhibit prolonged contractions

{Z)F\ Myofibrils show alternate dark and light bands

(3) They are spindle shaped uninucleate cells

(4), Their contractions are under the control of autonomous nervous system

NNY LodoroH Doodod JOsW a*gq:g:&d BLoRJW

() ©d 8gsto Joforod IrHeown

(2) dr¥) Sodd SodhHew Istoddom Iy o8 HOw 5708 vods (HEB 0w
(3) ©) $03 ws*FoS* 6od ¥ ToBf Forw

4) 8 HoS'IHn Vg000T'RS FEIgSY whBos® sowod

[dentify the set of secondary lymphoid organs from the following
(1) Spleen and lymph nodes (2) Bone marrow and lymph nodes

{3)'l Spleen and Bone marrow (4) Bone marrow and Thymus gland
Bod o0s* 03805 Dorond eddharo z=dd £80Srd.

(D PPrdn 00 Fadd fmPw (2) o Hoy HH00s» Fadd SmPw

(3) DIrdw Hodokn e Doz 4 o Hoz HOAED BHS (Kod

¥

49.

Identify the wrong statement with reference to the functions of lymphatic system

(1), It has no role in destroying the invading microorganisms

{% Transports digested fats to the blood vascular system

{31 Lymph returns the absorbed nutrients to the blood

(4) It transports lymphocytes from lymph glands to the blood

FTa8d HgHD Do JowoRodS DB Irgwgde H8oddn

() 6°8 T80d g 1dHo FEnBaHs® Jwdol IS5 LA sodd
(2) 28 S5 §Hg Do grod OF (DRde DgHVH DED as0S

3) FREHS5D FRoDS Fhsrod 800 F50s°d8 TS

@) F28D Hogho H08 FLLL Lmrod 850808 SararTcsnd

Rough Work
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Severe combined immunodeficiency in man is caused by

(1) Deletion of gene encoding for Adenosine deaminase

(2) Deletion of gene encoding for ATPase

[31 Point mutation in gene encoding for Adenosine deaminase

(4) Point mutation in gene encoding for ATPase

Sr3PHAS* 8B D0 278 RAEEE S*Ho BASOS Fenirdrod?
(1) E3SDE ST ES HoEd0T 2dogd) DoevgHo

(2) ATPIES: HoE803 adogd) ddegio

(3) AASTDH]S BIDNTES 20TB0T 250gHS” Dody as058S

(4) ATPIZES 50T80T 25gHS* Do 48058

51.

Choose the correct statements with reference to Mutation Theory

(A) Mutations occur from time to time in naturally breeding populations

(B) Mutations are continuous and accumulated over generations

(C) Mutations are fulfledged and there are no intermediate forms

(D) Mutations are not subjected to natural selection

(1), (A) and (C) (2) (B)and (C) (3) (A)and (B) (4) (C)and (D)

GS0D5ED DgroerdS Jowofodd JOTHS argpgody Hafowidw

(A) Sdrzom (Dadd0 20D 23S EPHoS sordohmomr S 0SET e
LoFAow

(B) ad0d8ae EQ{J‘):{:G 0w ad dddoreomr DovddHeron

(C) 68058700 DOYY DI H00c8n HrFgds Sfonod

(D) a8 0587w (DE)BI8eA8 HOSY

(1) (A) 20 (C) (2) (B) 20aw (C) (3) (A) 0cw (B) (4) (C) Ddckw (D)

S2.

Which of the following disorders is not caused by Pleiotropic alleles ?

(1) Erythroblastosis foetalis (2), Sickle-cell anaemia

(3) Cystic fibrosis (4) Phenyl ketonuria

6 (800 IS D Tgd ':.;_Eu‘Lﬁ‘E:cﬂa:ﬂa A¥oysro Sod Looddd
(h JJﬂLéi‘?Q“‘hﬁ AT IR (2) 558350 - gmag*?ma
(3) BRE DIB'HO 4 IS 8&° Irgoosr

Rough Work
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53. In birth control methods, which one of the following is an Intra Uterine Device 7
(1) DMPA (2) LNG-20 {31 Saheli (4) Vaginal ring
& (308 adgwdd =255 Johodgn mﬁé&uﬁ‘ D8 Aoryd0srodd FEII
®oNPIH ?
(1) DMPA (2) LNG - 20 3) Hod (4) T Sodho
54. Statement (S) : In brain stem, the pons is called as pneumotaxic centre with an ability
to moderate the functions of the “respiratory rhythm centre”.
Reason (R) : Neural signals from this centre can reduce the duration of expiration,
thereby alter the respiratory rate.
Correct answer is
(1) (S) is correct but (R) is wrong
(2), Both (S) and (R) are correct but (R) is not the correct expla.natmn to (S)
(3) Both (S) and (R) are correct and (R) is the correct explanation to (S)
(4) (5) 1s wrong but (R) 1s correct
sgwg (S) P Boddo stodBNST) FI S SrgBorersy§ So(ESootrd. abd
$A5 68S° agdodhng Iod dSooIAwRE00.
s*¥e0 (R) 1 6 SoldDd SoBaren ﬁﬂ*‘;}s% ©500 SHod FTgHTLod
Ard o).
ad JDOTHS JIrgrddo
(1) (5) D0THJH, 57Q (R) SOTHIHOH 57
(2) (S) 200050 (R) Todo JOTHID 572 (5) H (R) D0IHD Id8w 578
(3) (S) S:808x» (R) Tods DOTIIJ H0addn (S) £ (R) J0THS 58w
(4) (8) J00HJIH 57, 57 (R) J0THIH
55. What is the correct sequence of Man, taxonomically starting from superfamily to sub-
family ? ‘
(1) Hominoidea, Homininae, Hominidae (22, Hominoidea, Hominidae, Homininae
(3) Homininae, Hominoidea, Hominidae (4) Hominidae, Homininae, Hominoidea
Sr3PHd H088mod”® whHtwowo H0d GDHWONS Ko HHD AT
120 0502
(1) 5¥aronddir, TFRIIF, T
(2) S¥arondddr, WY, DI
(3) 552003, ¥ sondosr, F°00d
@) 5°00d, F°023, T Ionddir
Rough Work
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56. Match the following with reference to eye of insect

List-I List-II
(A) Appoposition image (I) Secrete crystalline cone
(B) Dioptrical region (IT) Refractive region of an ommatidium
(C) Retinulae (IIT) Region having comnea and crystalline cone
(D) Vitrellae (IV) Houseflies
(E) Cornea (V) Photoreceptor cells
80¥%) %088 Hbo0dHoDS & (B0od T =& Lrdydw

S8E-1 S8E-11

(A) I D20 (H8Dowo (D ﬁ;ﬂﬁ FoHPW (DRoTh
(B) s083o8¥8e |00 () JErodH SEFSS oddw

(C) 3Lé‘a‘:¢:u eoren (IlI) HESLoID Hdw ‘J;;)ﬂﬁ 405 So |Froddw
(D) Du’ﬁg (IV) &fex
(E) %Edbeo (V) sro@ |[mdrE Soren

The correct match is

ad HOTHD FBoY)

(1) A-1V, B-V, C-IIl, D-II, E-I
{21 A-V, B-1V, C-IIl, D-I, E-lI
(3) A-IV, B-III, C-V, D-1, E-ll
(4) A-lI, B-II, C-1V, D-V, E-I

57. The contractile regulatory proteins that mask and unmask active sites in the sarcomere are
(1) Troponin-I and Troponin-C (2) Troponin and Tropomyosin
{3‘ ) Troponin and Myosin (4) Actin and Myosin

PG LWAES™ d ddhode (FES BSSg FIos w8 S0 T TS0
DAbS* FSTodron

(D) (S*F*IS-1 Hoocsn |S*IVS-C (2) (SIS S0k (S A BoTWrBS
(3) IS H0BH HHTrRS (4) DES 500050 HTWroS

M

Rough Work

AM 2015 B 26 S



“l

/B\

Statement (S) : Cockroach is “paurometabolous” with reference to its development

Reason (R) : In the development of cockroach, there is no nymphal stage.
Correct answer is

(1)¢ (S) is correct but (R) is wrong
(2) Both (S) and (R) are correct but (R) is not the correct explanation to (S)
(3) Both (S) and (R) are correct and (R) is the correct explanation to (S)

(4) (S) is wrong but (R) is correct

g (S) P DT00¥ 5)8Toda) ‘Foderdtol’ wourd.

s*dmo (R) : Q0¥ uﬁ:ﬁ;@ﬁ‘ PeErD FEdw bﬁad&a.

ad JOTHS Jdrgrddo

(1) (S) 50TH%B, 5 (R) HOTHIS o>

(2) (S) $o0aw (R) Sodd H0THHD s*2 (S) © (R) D0TDS 8w s

(3) (8) S20c8x (R) Tods DOTHID S8ds» (S) £ (R) DOTDS IS8
(4) (S) SOTHI6 57, 52 (R) HOTHHS

9.

Alleles for a gene I are I, 1P and I°, If I* and IP are dominant over I°, then I* = [B > [°
18 indicative of

(1) Dominance [EK Co-dominance

(3) Recessive (4)s Wiener hypothesis

[ 03 23559 4 1° 50050 I° oF aswify d¥ovjon dotrow. 1A Sodasn [P
ORI I° E57) e wond M =1B>1° 20 %08

(1) 2% Fé30 (2) I dsdn
(3) wodgSd» ) D58 vgrodsw
Choose the wrong match with reference to joints

(1) Synchondrosis — FEpiphyseal plate

(2) Gomphoses — Intercarpal joint

(3) Syndesmoses -— Membrane between Tibia and Fibula

(4), Symphysis — Joints between vertebrae of mammals

& 808 S s".ﬁ,)ﬁa Q0208003 DI oA BwoDH)Sw

() DI o|@* DS — IDHRHS Ho¥sn

(2) AfoPfer — wodd M odse S

(3) hu&ﬁ‘g’a’&n — ©088 H0aw wirdoPfo Hdg So Sgusw
(4) Dogrdo — S8oro ¥ASHso S8y sod few

__—'—_—_——_—l——__—.._..____
Rough Work _
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61. Abingdon tortoises in Galapagos Islands became extinct after goats with great browsing
efficiency were introduced. It is an example for

(1) Competitive exclusion (2) Competitive release
(3) Co-existence (4) Interference competition

TorES Bedrod® Do Do Lﬁﬂ%%gﬁa S5 HDohssS E‘"i?'ﬁ‘ﬁ“‘} woddoarown.
28 ANE acirde

(D ﬁ‘tﬁ'éég oSt onoR) (2) ﬂ‘tﬁéég ddode
(3) Do BBH35% (4) Sgasde %8

62. Choose the correct statements with reference to “Demospongiae”
(A) They are exclusively marine forms.
(B) They are colonial forms.
(C) Skeleton consists of siliceous spicules and spongin fibres.
(D) They are solitary and simple forms.
‘ABrIYo2ASr'H HDoofoDI VOTHS Frgwgods BLIRYB
(A) a2 Prom JdE LHw
(B) 22 J5034 2Hew
(C) uamﬂaﬁﬁmrﬁ* POsr¥obstey Ho0din FyoRI hen dobrow
(D) 29 REY DS Jsrod ZHeo

(1) (A) and {C) (2) (B) and (D) (31 (B) and (C) (2 (A) and (D)
63. Statement (S) : Marine fishes have aglomerular kidneys.
Reason (R) : Aglomerular kidneys increase the loss of water through urine.

Correct choice is

(1) (8S) is correct but (R) is wrong

(2) Both (S) and (R) are correct but (R) is not the correct explanation to (S)

{31 Both (S) and (R) are correct and (R) is the correct explanation to (S)

(4) (S) is wrong but (R) is correct

Fgwg (5) 1 DIE Tdoohod SEEITOs NS SarEDoarwotron.

s$mo (R) : SESH>Ose ﬁa:‘igﬁmé SardDoagrey Sargo oreor BGodwd
58 539y w8yFow.

a8 VOIS Jdrorddw

(1) (8) [02DJH, 570 (R) H001IL 5o

(2) (S) 205w (R) Todo JHOTHIJ 57 (8)% (R) D0THH dH8es 578

(3) (8) H0a5» (R) Todo JBTBID SHo0csw (S)% (R) D0THS dS8e
4) (8) DOTHI8 57, 57 (R) JDOTHIS
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64. Vitamins required for maturation of R.B.C. are
(1) Vitamin B,, — Folic Acid (2) Vitamin B, — Folic Acid
(3) Vitamin B,, — Ascorbic Acid (4), Vitamin B — Pantothenic Acid
¥ I5 Swro (RB.C) DODEEH oJ5JI80H 200D 2
(1) QWS B, — FO5 &do (2) b B, — 98 eBs0
(3) DOWS B, — @ 0)F e D 6WS B, — Jo&*'BIS edHo
65. In which one of the following animals, parasitic castration is observed ?
(1) Culex (2) Carcinus maenas
{3)a African antelope (4) Anopheles
& (308 zodhHods® BAKoE BorH)ES $TRIASD ABIIDI0
(1) &rgss), (2) $°0)8% IR
3) Y25 Jo8S*D ) o305
66. With reference to cockroach, match the following
List-1 List-11
(A) Ocellar spot (I) Genae
(B) Epicramial plates (I) Mandibles
(C) Cheek sclerites (IIT) Fenestra
(D) Second maxillae © (IV) Vertex
(E) Adductor and abductor muscles (V) Labium
D°R0EH JowodoWS & (80D oA =& Lrddydw.
H85-1 S8-11
(A) 38 Do 1N 2
(B) #diadreo Dosten (I) SHoPheo
(C) 858%) B (1) ado
(D) Bo&® =& =opfe (IV) 2g5»
() ©d58d H0csn BN ¥odorenw (V) wido
The correct match is
ad HD0ThS =*doP
(1), A-IIL, B-1V, C-I, D-V, E-II
(2) A-!II, B-V, C-I, D-1V, E-lI
(3) A-1l, B-1V, C-lII, D-V, E-l
() A-IL, B-V, C-I, D-1V, E-III
Rough Work
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Identify the one which is not a disorder of circulatory system

(1) Myocardial infarction (2) Coronary artery disease
(3) Angina pectoris (4) Emphysema

(Bod I° b JE (Hv8w HILH BVod ©H28?

(1) SoTWrs*gdshd as&sgs (2) 656 :55;:3 A
(3) so2ae ﬂg"’ﬂm 4) dopoBr

68.

Edaphic factors are related to

(1) Wind velocity (2) Humidity (3) Soil texture (4) Rainfall
QaDE sEsren BIE HBowoBoDBD
(1) arodw Ko (2) 8% (3) H8 wEHd () Sdd&o

69.

A fish, Nile perch introduced into lake victoria in East Africa led to the extinction of
Cichilid fishes in the lake. This is an example for

(1), Invasion of Alien species (2) Fragmentation
(3) Over Exploitation (4) Coextinctions

‘36 D6y o3I IFdSs Srd) oSt 5oy DENYS'8 (DTF wodo S0l
vy VIS HEE TFdHw voddoorom. 26 Bo8 ﬁn‘mdﬁ

() FVITEE 2o T (2) oS oddo (FADoBAS)
(3) 330 wa8IJTrHo (4) 2D deodden
70. In a normal ECG, the component that signifies the duration of one Cardiac Cycle is
{l} R-R interval (2) Q-T interval (3) P-R interval (4) S-T segment
¥ o ECGS® 26 a"ﬁﬂ§ S0cs storBeR B005LTN0d
(1) R-R woddo (2) QT wo&ddo (3) P-R woddo {4} S-T modo
71. Identify the wrong statement with reference to the characteristics of embryonic stem cells
(1) They can give rise to the three primary germ layers
(2) They are pleuripotent
(3), They are isolated from epiblast tissue of blastocyst
%l They can not proliferate in a culture medium
oddwro oo oo Sowmodod HOSW TEWEH Mo oodw
(D ad Swrds (EDE Dadood J838SKwr e o
(2) ad I .ﬂ-;ﬁo{fsn 5§07 Gobrow
(3) AV FFRY Ty VPP ¥ozroo HH0d F&H F
(4) ad an:&ﬁ:& wqigfuué‘ Dz,‘fa:& Bo&dH
Rough Work
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72. ldentify the correct combinations

List-I List-11 List-III
(A) Genetic load The existence of deleterious genes Sickle-cell anaemia.
within the populations
(B) Founder effect A small group of individuals from a Beaks of Darwin’s
population that start new colony in an finches.
isolated region _
(C) Centripetal-selection It operates when homogenous environment ~ Weight of new-born

changes into heterogenous type babies in London.

(D) Directional selection It works.by removing the individuals Average value of
constantly from one end and shifting length of Giraffe
fitness towards the other end of neck.
phenotypic distribution

(1) (A), (C) and (D) (2), (A) and (C)

(3) (A) and (D) (4) (B), (C) and (D)

G (500 TIS” DOTDS DTy YHSwod BorRHsn

DS | Se8E-11 «gE-111

(A) =g ardo St SEIEE DD 2dogHen 0E&S DS

dodbdw & asr

(B) 338 2o dyrdo DI) 2Ho HIwrdrdn Swro zavye @*8¢s Podo
3008 Fsow £ JTIF,I) D5E  SuHyew
(roSos® (>BohDIow

(C) D308 SEwo 252805 e S8ndn DA D aomrodos®
2 8aH TE BRI S;rOSD P 2008 JSHerd
ad Soiodood dhHhrHHo wdd

(D) &acsnd SEmo E)Ig8rd DYInS® 28 wodgos®  2oHodt
2Hoo (o SoAoSwd SoddH DK
205" ©o08g08” (Edoom S8mo Jeod
sTQodwdavow

(1) (A), (C) S2005» (D) (2) (A) S0a8» (C)

(3) (A) &0a5x (D) 4) (B), (C) &:0a8» (D)
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73. Match the following

List-I List-11
(A) Ostracodermi () Lobe-finned fishes
(B) Coelocanth (II) Exocoetus
(C) Cyclostomes (III) Extinct jawless fishes
(D) Osteichthyes (IV) Hagfish
61 1508 TPI0 2EDHSHB®.

SEE-1 SQE-11
(A) ©395°@0) () ©o0d¥ v Tdew
(B) “osod D) 83065
(C) D5 Fdwew (IIl) dend SH%ew T Tdew
(D) &2 83 (IV) 58 35

The correct match is
ad JDOTHS #fdoD

A) B) (©) (D)
() dm an avy @
(2, (I @O  Av)
G) ap am @O  av)
4) (h ) an (@av)

74.

In which syndrome the somatic cells of males have Barr bodies in their nuclei ?

(1)y Kline felter’s (2) Down’s (3) Turner’s (4) Edward’s

6 1808 2 2oIB'HS' PHREHo BT Ewro Todse b BHod LA
Gso&™=ow.

(h 33985y (2) @) (3) &8)6y 4) da@g8y

75.

In ADA gene therapy, identify the vector used to introduce the functional ADA ¢cDNA into
lymphocytes

(1) a-1 antitrypsin (2) pBR 322 (3) Retrovirus (4) alpha-lactalbumin
ADA 2dog DESYS® o T sy 4D TrAoD (8BS 8 ADA SBoE) cDNA S
Do oo &°J8 HTFwsed

(1) a-1 5o 8DYS (2) pBR 322 (3) O I&°38S% (4 U™~ 5o )R

W
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76. Choose the correct statements with reference to reproduction in Paramecium
(A) The micronucleus divides by mitosis and the macronucleus by amitosis.

(B) The micronucleus is polyploid and the macronucleus 1s diploid.

(C) After karyokinesis the parent cell divides into two daughter cells, anterior proter and
posterior opisthe.

(D) It undergoes transverse binary fission during favourable conditions.

DENN 55 (DSgE 85 Jow0oHoWS VOwOWS JFHLOI 20 0o

(A) ‘h?ia?oﬁﬁﬂn JBJYd orgor Hdan Jro So|8%0 ADotrvL orgo
wizd Dodod

(B) m‘ggﬁﬂﬁﬁﬁo uﬁ*ﬁ%ﬂé"?&? 500 ol fgru?at_ﬁﬁu ﬁsuﬁa%ﬂd‘:}a
= 1s]* S % )

(C) "0 TVr33D0 ddhaord SO08mo IFued TJodbo Hod |06 (Jprogod
0 $08) HoOAD 2D (Horod rHo 508) v By EHw I8 e ow

(D) & 22 wvHireo DOR S Dyl wdy O3e” aﬂ‘)ga 285 H0d

(1) (A), (B) and (C) (2) (A), (B) and (D)

(3) (B), (C) and (D) (4), (A). (C) and (D)

77. Which one of the following diseases is not treated by Inactivated Whole Agent Vaccines ?
(1) Typhoid (2), Hepatitis-A (3) Bubonic Plague (4) Cholera
808 TS D ogd DSy §'0H Y 9dr VoRrd (@BAFg T8 Yook
dHTrAoSEs?

(1) Baroxd (2) WHBEG-A  (3) wgS5°8 Db 4) Soo
78. Statement (S) : Marine lampreys migrate to rivers for spawning.
Reason (R) : Marine lampreys return to sea water after spawning.

(1) (S) is correct but (R) is wrong

(2) Both (S) and (R) are correct but (R) is not the correct explanation to (S)

(3) Both (S) and (R) are correct and (R) is the correct explanation to (S)

(4) (S) is wrong but (R) is correct

agwg (S) : DB0(E orobo HHoH HE VOIS 1Dardo IJow
s8mo (R) @ DS orodw Hd DES SHard 80A JHwE) Bherow
(1) (8) 20THI8, 570 (R) JO0TH386 57

(2) (8) Ho8a5w (R) Tody DOTHID 572 (S) H (R) J0THS S8 578
(3) (S) baosw (R) Gody JHBTHHD Hdcsw (8) & (R) 2O0THR DB

(4) (5) JD0THIH s 57w (R) D038
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79.

Match the following
List-1

(A) Obligatory anaerobe

(B) Facultative anacrobe

(C) Polyembryony

(D) Reservoir host

(E) Biological vector

1808 a7 28 Ll dw
D88-1

(A) vdZ0 ¥ vardin 23

(B) 35058 vardin 2

(C) 0o DTr

(D) esfc5r8Gon

(E) 2s5a5%0

- The correct match 1s

20 DOTHS =doP
(A) B (©
() avy dam @M
2 V), anp @
) V) dip (D
4 av) an @

(D)
(1n)
(1)
(I
(I11)

(E)
(V)
(IV)
(IV)
(V)

/B\

(I) Fasciola hepatica

(1) Antelope '

(III) Ascaris lumbricoides
(IV) Female culex mosquito
(V) Entamoeba histolytica

SQE-1I

(1) D2Trer 8
(D) o8BS D

(li) 3308 woDsTadS
(IV) u5&rg B8y &%

(V) dobdwr rJsds

80.

The unit formed by a longitudinal row of kinetosomes together with the corresponding

kinetodesmata is
(1), Kinety

(2) Myoneme
28 808 HEHDST &Sy 3362 oo &8 Eﬁt‘i‘ﬁﬂ‘lu‘m 0% 2.¥ (ddrmomr

(3) Motorium

:}daméoo&i ADD aor 'ﬁ:-ﬁ‘zrﬂtrfi:

(1) 338

Rough Work
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(3) Ir&*dohHSo
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PHYSICS

81. (A) Inap~ decay in a nucleus, a daughter nucleus that has discrete energy states is produced.

The daughter nucleus reaches ground state from excited state by emitting y-ray.

(B) The binding energy of hydrogen nucleus is far less than the binding energy of helium

nucleus,
(1) (A) False, (B) False (2) (A) False, (B) True
(3) (A) True, (B) False (4) (A) True, (B) True

(A) 2¢ So@%os® B Labo wonddypdo DHE FEFonen LIRS udg SoELo
6838 Tohwddod. adg SoBso y-58wm zdodWohdo wgo o

Fono %008 FrIrond 6808,

(B) o (&'2S So|8¥o g wodd ¥8 Lrdokho Foso wodd 4§ fod arm

d55
(1) (A) 823y, (B) 4Dy (2) (A) 5y, (B) d=o
(3) (A) R=zo0, (B) r‘.“n’ay (4) (A) Q=0, (B) =0
Rough Work .
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82. pn junction diodes are arranged as shown in the figures (A and B). Identify the bias applied

to the diodes. r

|+

¥

{

| B
A

(1) (A) shows reverse bias, (B) shows forward bias

(2), Both (A) and (B) show forward bias

(3) Both (A) and (B) show reverse bias

(4) (A) shows forward bias, (B) shows reverse bias

Here® A $o0050 B & Srd3&o pn 900 STWrEe 58 83,
65588 wsrDd K80808

(1) Aaﬁcééau 200 Srvod, B f.g)ﬁ‘-ﬁ'ﬁaﬂ pASrD Sromoed
(2) A 50050 B oo Bods PG50 IrdRT)on

(3) A 350050 B e Todr 85480 drvdaryon

) APEHL o 25t SIrvHNod, B 85950 20ird IrvIod

dorbod

83.

A circuit diagram of CE transistor amplifier is given in the figure, then
CE @rR)ab 5¢fo Ty Sodho Dood' adeuwdid. vwoud

C

@ &g L

—— I C

— —

=
I

1

: = |
B s Iy E Vo

vi @ vV il I l _g ?Ef: |
| B : |

T e
(1) Vee = Ve T IRy (2}! Vae Vi = Ve + 1gRg
vBE = vBE + IBRE for "'u"i =0

() Veg -~ Voo~ IRy = IRy (4) 1R, = IgRg + AL Ry
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84.
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A message signal of frequency w_ is superposed on carrier wave of frequency w_to get an

amplitude modulated wave (AM). Then, one of the angular frequencies of the AM wave
15

(1) equal to the amplitude of the carrier wave
(2), equal to the amplitude index of the carrier wave

(3) equal to the angular frequency of carrier wave
(4) equal to the modulation of the carrier wave

L0035 D0a é?dagif'&ﬁ (AM) é80m) FodbdH, a8 T (DIEY POoSS5®
W0y, ddiSgdn w_ 50, T oD I Pdgdo w_ 8 oorgs bodards.
0w aama‘mmgﬁaﬁ g8oMYy TwE) =¥ Sdab PRI G

(1) oord SS0MR) L00d DoMAS* Hirdo

(2) >33 S60iYy SrdogTas Mnfdns Jdro
(3) D $dody Sedd FB:PDHgdes® VS-S0
(4 % SSofy BrdogTass vdrdo

85.

A heavy brass sphere is hung from a weightless inelastic cord and acts as a simple pendulum
with its period of oscillation T. The sphere is immersed in non-viscus liquid of density
1/10 of the density of brass. Then it will act as a simple pendulum of period

ed dwrd gﬁga?m @ of adhId a8d At & Haoda Lﬂu‘d&hm‘da. (11!
T Goadds sodnd) odustofdnm (58518, & ) D48 T
B8508° SpoDT 8. (EHo Fodd, add Jo|B8S8S” 1/105 Sod HI)d. wdypd
6 FPE¥Sn Jdod ﬁ‘umﬁg STOBVD) Stogdom (258™>08.

0 9’
ay {2 @ 3T G) T @ (5] T

86. A light planet is revolving round a massive star with a period of revolution T. If the
gravitational force of attraction varies as 12, then T? is proportional to (r is the distance
between the planet and star)
w8 BO3S |Hdrdw ) (BSgom8 Mo IF (Edn Hoor T (FSerd8d sr00d°
HOFWAI0B. hhergsdnm poo o2 $rdh&od edydk T2 H eds*srdddom
40d8 (T dn, SF 1SS0 gy drdo n
(N I_’..f! (2) P2 (3) r?f! {41 .
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87.

The temperature of a steel rod placed between rigid supports and of length L, area of cross-

section A, Young's Modulus Y and coefficient of linear expansion @, is raised by T. The
amount of work done when heated is

PEH L, Do8gVHd ST ogd0 A, dS0f HrmEdn Y So0ddn B e g8 omESn
a a3y =¥ afy 82 S)EFS egoo Ho8gd GoD, oW ass T
2»odd. 38 TnbSod =0AD DI Jndd»

YAQT2L YAR’T?L YA aTL YAZa?T24?

W &) — » — @

§8.

The ratio of the pressure (P) on a swimmer 10 m below the water surface of a lake

to that of the pressure on the surface of water (P ) (Atmospheric pressure = I > 10° Pa,
p = 1000 kg m~ g = 10 m/s?) is

Lk B Fe$s® 58 Sovni 10 . FEst Hd) a8 SHSMID LESINIH
5 Sosnd 55) HESISH fo VL)Y (Tedde DA =1 10° Pa, p
= 1000 kg m™>, g = 10 m/s%)

(1 3 2 1 3) 2 () Zero

89.

A sphere at 600 K is losing heat due to radiation. At this temperature its rate of cooling is
R. The rate of cooling of this sphere at 400 K is (temperature of surroundings is 200 K)

600 K 5 &Sy Agdn D88mo o°go° 4RO 'S 18050, & sP|IHE G ©wd
Sed Téo R & A¥S» 400K 5& a3 Rd @b ST T (uddn aP'dd
200 K &n‘élﬂ}

3 8 16
(N ER (2), ER 3) -?R (4) 7R

90.

Two perfect black bodies A, and A, made out of same material have diameters 2 cm and
16 cm respectively. A’ and " ax 2TE the wavelengths corresponding to their maximum
radiation of energy at a tommon lemperature. W and A" are related as

ard LE‘:‘:;; SDdRe Al,A:ua 2,8 ﬁ}u‘ga‘imﬁﬁ Soond, ﬂ‘_g}ﬁmm Sdamar
2 0.5, 16 0.9 £DA Pamyon. wd 23 GXHSS' S RE A D0

A oo a8 Hood Seosd H0% oR D86w %o 8o B goD? Beod)erown.
©d P& .R'm“ S0dbn A" © dadig DoDOoE DM

(1) l.m“ -8 :I'-"mm‘ {2} 16 limm =5 l“mu
() Mnax = max 4) Eymaﬂ =8
— e # e e
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A Carnot engine working between 200 K and 500 K has done work equal to 800 Joules.
Amount of heat energy supplied to the engine from the source is

200 K %8050 500 K o g 903D soom)§ moz=l 800 &°¢) 92 [hod.
25850 508 zozdH wodBELS ¢0IE Sndide

800 1600
(1) ?J (2) MJ (3) TJ ), TJ

91.

The rms velocity of a gas at T °C is double the value at 27°C. The temperature T of the gas
in °C is (assume that the pressure remains constant)

T°C E’Mé 28 ordins) rms S8Bn, 27°C Eﬁg E’DEﬁl o) 33 00 B3 Egﬂﬁu o8, Tadna
aids T, a1h "ﬂﬂtﬁ{_ﬁﬁﬂtﬁ" hadSo 1-315::::1' Gotnoda rRowidn)
{]}1 927 (2) 820 (3) 1000 (4) 195

93.

Two trains A and B are approaching a platform from opposite directions. The siren in the
station is making a sound at a frequency 4 kHz. The passengers in the trains A and B hear
it as sound with frequencies 4.5 kHz and 5 kHz respectively. Then the velocities of the
trains A and B are, (velocity of sound in air = 340 m/s)

A H38cin B o3 Bod Eﬁu& ‘.553?55' BdoS® af P& PEod DAV Iow.
RASS' HP) ES 4kHz 38:Sgos dpo Tod. 8¢y A Hadosw Bes®
PR (pErdHer o dyrd) S8 45 kHz 30c8% 5 kHz FdiPago do
fgroore D08 A, B 3¥) Jrew (mOS” g3 Fido = 340 m/s)

(1) 42.5 m/s, 85 m/s (2) 75 m/s, 55 m/s

(3) 85 m/s, 8.5 m/s (4:: 42.5 m/s, 62.5 m/s

94.

According to Rayleigh Scattering law

(1) The light of only longer wavelengths is scattered more in earth’s atmosphere.

(2) Small-sized dust particles scatter preferentially smaller wavelengths of light.

(3) The large size dust particles scatter only light of short wavelengths.

(4) The light coming from sodium lamps show Rayleigh scattering very efficiently by large
sized dust particles.

ogD-D0E D drEod ad

(1) &> sessnod® &g SSoKS0ne 5703 Sr|8To DOF DBarod
(2) VIJ) DODFrdw 5o $r® smPHw Sdardrfom voy SSof Bgrgealdy
5080 DOE DA ow
(3 248 505rm0 E0AS 0 wooHos vwoy 08B g0 &) 5708 S8
- Eﬂé'm
(4) DG H0Irmwo £DAS S0 oo Fdaho bdo H08 Iwdd 508 ovgd
DO E Doedud o dirjﬁ‘ (2&dyarow
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95.
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A Telescope using an eye picce of focal length 3 cm has a magnification 10 in normal
adjustment. If the Telescope is now used to view an object placed at a distance of 180 cm

from the objective, the new length of the Telescope is (assume the final image is at infinity)

3 o8 v TYrgodddn o of SLEdn 65) SrdS8 0 TwE) vdIId
Fordn dhwreos® 10, 3% E6¥Sn 08 180 o Srdsnd' %D
Srdtrdd Srd80) avTWrAothie®h, v SrEE0 ) TWoE) 58 PEH (DS
(H8Dowdn vlod Srdsnd’ &5 858 552)

(1) 36 cm (2) 39 cm (3) 32 cm (4) 33 cm
]

A monochromatic light beam of wavelength 5896 A is used in double slit experiment to get
interference pattern on a screen. 9" bright fringe is seen at a particular position on the

screen. At the same point on the screen, if 11" bright fringe is to be seen, the wavelength
of the light that is needed is (nearly)

28 JE68 S50 B ggo 5896 A Ho 5708 Pozo zob VO (DTrAos’® H3858w
Irgirdn 9395 N8 Fodo®H Tdndod. B985 Dd 28 VgL FIIe 54
9 5 Sog8%0% Y ¥5u838. By9d NS T FISw S 11 5 SgdSoh
58 gdwarool, sHohd 5708 Wl SEoAB g go, (B

(1) 3525 A (2) 7014 A ml 4824 A (4) 6780 A

97.

Electric field on the axis of a small electric dipole at a distance r is E, and at a distance
of 2 r on its perpendicular bisector, the electric field is E,. Then the ratio E, : E, is

2€ DI) Vg8 BIS wfoDd r Srdod® Ddgd (o E, $:00n ord vow
HHo0ewodd Tod 2r drdod® Ddgs 3 (So E, wond E,:E, d4)38

1), 1:4 (2) 1:16 (3) 1:8 4y 1:2
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98. Thin plates, each of area A, of four identical capacitors are arranged such that adjacent
plates are at a distance d apart with air as the medium. The plates are connected to a source

of V Volts as shown in the figure. The charge on plate 2 is
w550y STogin Amrdo Sreof) VILRIrIFoD SIrWed Doodld dofods
G DI) Dofo Hdg d SrEsw GoTBLOL G EID. & Dofw V o o

638 2II03H DOING® IrdI IFS0MT DofodwEID. Do¥ 2 B Ao
wu 450 Jood

TN Ty
1| 21 3| 4| s T ¥
€, A €. A IEGA €. A
1) =% ¢ L T ¥ el 5 =R_w
(1) 24 (2) y (3'] q (4) 4d

99. In Gallium arsenide material, Ohm’s law does not hold good because

(1) current remains constant for any value of voltage

(2) resistance is infinite

(3) negative resistance exists in the voltage-current variation

(4) current goes to infinite at very low voltages

MO0 80y 36 (Sargd¥od’, 4oy VoSosn H00DE, JoSESM
() 9 5P Dewd 35S0 DS BT d0 PYor dodaS

(2) A6 Hw wHodo

(3) T2 - Dog8 (DIrdw SrE St G DE S0 LOASHSB

@) Tor wo) ST2 58 IBgs Pardrdo edoddom Gods
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100. A non-conducting ring of radius R has charge Q distributed over it. If it rotates with an

angular velocity o, the equivalent current is

R argrddn fo uf oordrdy doobold uddo Q DSOS HH8. ©b o ok
FHsns Pondn DD Jdo, dog s PTTY Jod

Qu Qo Qo

M) S, 8 o (3) Qu @ =
&

101. Two concentric coils, of 10 turns each, are placed in the same plane. Their radii are 20 cm
and 40 em and carry 0.2 amp and 0.3 amp current respectively in opposite directions. The

magnetic induction (in Tesla) at their centre is

25780708 10 Soes o Todo 0¥ Sos% 8K Sbods 2F Sood soTB&
ua‘:-:-u*aﬁa. a3 aﬁgﬂ'gﬁmm S&5a 20 em 5308050 40 cm, S:8cin I O°QO°
SEBbm 0.2 amp $00%0 0.3 amp © DBgS $38TE Biod’ (dIwTyon. &I
To|8dn H8 echyjod (wim D (BISY)

7 5 3 9

102. A galvanometer of resistance 99 € requires > mA. current for full scale deflection. It can

be converted into an ammeter of range 0.5 A by connecting a shunt resistance of

99 Q DESSw Ao MogTErHESn Bwdsn byS ©BIEISH FoLerdS 5 mA
DEgE (darirdn STHTH. @AY 05 A uSEISN (range) ooy 5785)
Sc$erdt sSoBd hof IFESW

{17}(‘3 Q (2) 1Q 3 2Q {E} 4 Q
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103. A bar magnet of magnetic moment 20 J/T lies aligned with the direction of a uniform
magnetic field of 0.25T. The amount of work required to turn the magnet so as to align its
magnetic moment normal to the field direction is
28 Bou BoHIY 08N BaHIY0S ErSESD 20 JT. oI 025 T DE6S echHdy o
2 (8 84S° oSdyTdh. wahIpoerd), o0 wdhdyod Frdfdn, 3 (808
VOVOMT GOTOLLD Laa';.:.j;s;:;}m 20T D Jeod

1) 0.101] (2 051 (3 031 (4) 501
¢

104. The magnetic flux linked with a coil varies with time as ¢ = 3t> + 4t + 9 webers. The
induced emf at t = 2 sec is
2§ 84 b ©3HoTIoDS vchIpod I do oSN §=3t2 +4t+9

Seboom 53820538, t = 2 sec fng L] ;}tﬁagﬂ-':,ug vodn Dod

(1) 10V (7% 1V (3].! 6V (4) 16 V

105. A resistor 20 £, inductive reactance 15 €2 and capacitive reactance 15 € are connected in
series to an AC voltage source V =200+/2 sin ot . Then the maximum current in the circuit
is
20 Q J6°GEo, 15Q DEEde 1988 Fo¥e DEFo Hdasw 150 Edode D88 Gofo
B>BOEoS V=200/2 sinot Sfeny dsrodd 5'T2 255708 Lﬁrﬁé"f&ﬂﬁﬂﬂéﬁ‘ﬁa}ﬁ:.
v Sodhod® #0h Jdgs Do Jwod

(1) 2042 A (2) 10424 (3) 10A 4) 20A
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106. An electromagnetic wave is travelling in a medium of permeability p_ and permittivity € .

If *c is speed of the wave in free space, then, the refractive index of the medium is

o “aﬁan‘i&ﬂﬂé, € 1.:%5:1& £0AS dSrd¥ost ¥ ﬂdzgdﬁ:‘ﬁ.ﬁ'&ﬂé ddoffo

(PSr3Fod. v SSofo B, Ido Oss*ios’ ¢ wond, drSfo TG,
58585 Hom¥o

[1) c"lJEmHm {1} —C_

Hm Sm

1 |H (S
3}y — I‘—'ﬂ- 4) —m
: €VEm ’ :

107. In Davisson-Germer experiment the decrease of the wavelength of the electron wave was
done by

(1) keeping more distance between the anode and filament
(2) keeping the same potential difference between anode and filament
(3) decreasing the potential difference between anode and filament

() increasing the potential difference between anode and filament

Bo=5-2Y06 HTPrios® Jogryd SSodBEgo Sifde Sodubd dRod
(1) ©588 Hoodt Sy Srdo I Sm Db ovgor
(2) uS68 HoDods Sadg 51838 PBYHS PS50 doSd orgo

(3) uS'68 HoDot5E Jogg 1TSS PESn Sfoshd ogo
4) uS'&8 HoDoosE NG g #Egﬂﬁaﬁ FED0 Dodd oryoT
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108. The values of potential energy, kinetic energy and the total energy of the electron in the

fourth orbit of hydrogen atom are respectively

28 828 DOSrmPS’ Teodd 56 JoseSH BRAHS 48, 4 48
2000w Bwdo 4§ Jwden SEH

(1) -1.7eV,+1.7eV, 0 (2) -1.7 eV, -1.7 eV, =3.4 eV

(3) +1.7 eV, +1.7 eV, =34 eV (4‘,: ~-1.7 eV, + 0.85 eV, —0.85 eV

109. Match the following

A B
(a) Michael Faraday (e) Quantum model of Hydrogen atom
(b) Niels Bohr (f) Laws of electromagnetic induction
(¢) I.J. Thomson . (g) Discovery of Neutron

(d) Chadwick

(h) Discovery of Electron

& 508 T uddHISod

A

(a) SIS P83

B
() &'=S DEErm0 s°goss SHurae

(b) &y 5°6 () gschd)od De Aohdrom
() JJ. g5 (8) Srglers @dayde
(d) oragS (h) dog9s wdH) b

The correct match is

28 HOTHS FdoPy

@ ® @ (@
() ) (@ (@ (©®
2) ) B (t) (g
ed () () (g
4 & (@ ((Hh) (D
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110. Dimensional formula for coefficient of restitution
L}’:E“g&ﬁ%":} KrEinsdHh e @*tﬁagﬂ'
(1), MLT* 2) ML (3) MLT (4) MT?

111. A stone is dropped from the top of a tower of height 45 m. One second later another stone
is thrown down from the top of the same tower. Both stones reach the ground at the same
time. If g = 10 m/s?, magnitude of the initial velocity of the second stone is

2¥ oronn 45 . 2835y 3pdod s008 (Bobd 508078 wf T8N dogd

$:6°¢ orond ©d IESPD $08 (3088 W8T E. Tod 0¥ Fod wTT>o

Soaron. g = 10 2/, wond Bodd ocron &9 B DOSreds

(1) 16 m/s (2) 25 m/s {3} 12.5 m/s (4) 8 m/s

112. The position of a particle is given by T =3ti - 4tj + 5k . Then the magnitude of the velocity
of the particle at t = 2 sec 1s

2§ € o 800 DFom zSgEIL F=3ti-4%j+5k. t=2". 3¢ $w 34
DB JFrm IR

(1) 265 m/s (2) J276 m/s G) J246 m/s (4) J255 m/s

113. Three bodies A, B and C are projected with the same initial speed with angles of projections
30°. 45° and 60° respectively. The body/bodies having maximum range :
A B $:805» C o3 Sards SoHeo H8dm 30°% 45° 9000 60° Efrod® DiE;D
50 588 (8d0 VoHdSD. #8H IgRD FOAS SHoH/ENHes:
(1y C (2) B (3) A {41 A and B
A 530050 B

114. The vectors A,Band C are such that |.3.I=[l_3|,|fl|=ﬁii|andﬁ+l_3+fl=ﬂ. The angles
between Aand B, Band C respectively are
sofer AR 50050 Co Howodsn |A|=|B|IC|=V2|A| 32002 A+B+C=0-
A.Bo DG 8, B,Co Bagg Endow Som
(1) 45° 90° (2) 90° 135° [3) 90°, 45° (4) 45°, 135°

_ﬁ_—
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115. A car is moving at a speed of 60 km/h traversing a circular road track of radius 60 m. The
minimum coefficient of friction to prevent the skidding of the car is (g = 10 m/s?)

60 . Tg>dSn do uf Syesd g Srdo Hoae 2¥ 56 60 8.9:./K06
538" (DArdRNI0. 6 FFH0a DTV0DHODH BVHDHEBK 0 Podon HmEd
(g = 10 Ho/2%

(1) 25/54 - (2) 21/54 (3) 15/44 (4) 21/44

116. When a force F is applied to a mass m,, its acceleration is 6 m/s?. If the same force is
applied to another mass m,, it gives an acceleration 3 m/s®. If the two masses are tied
together and if the same force is applied to the combination it gives an acceleration

o8 25w Fd m |8dg0r8n (dTrhodSm ol dedndn 6 S0/, o8 SISACRY
m, GO0 (DAY 0" Edmdn 3 /%% Bodd (BB orhod 0D
EYS S65rd o8 podn DoWrHdeD (DTrAR wodn ¥DA0T &gdndw
(1) 1 m/s® (2) 3 mfs? (3) 2 m/s® 4) 15 m/s?

117. A particle of mass m is moving in a circular path of constant radius such that the centripetal

acceleration is varying with time as a_= k’r t? where k is constant. The power given to the
particle by the force acting on it

m (85g0°8 o af Fodn I agrddn do Syorsd $rdos® od ehdo
$30md0 a = k'r 1’ o3 DDEER0sH 3 soos T SrKs5)8. af s k
2005w, ¢ fwo»d DIVDH wwo ¥wrdd owdyd Frdod gdao

{'h ntmkrit (2) 2nmk3it (3) mk*rt (4) zero

118. A bullet is fired from a gun with a velocity 30 m/s at an angle of 60° with the horizontal

direction. At the highest point of its path, the bullet explodes into two parts with masses

in the ratio 1 : 3. The lighter mass comes to rest immediately. Then the speed of the heavier
mass’ 1s

¥ &ar8 Hod ¥ 208ES 30 N/ FHS508 8= DLIrodd BI%H 60°
Fodnd® DOyl od Srdodt 02 D& 3§ wTE, (Fdgorder 1:3 HI)
Cody aremeon aﬁ*‘gh;&a&n Toddd, BOE (B$d5gor? Tosd diyo 288 50)HI8.
odpid 2HIS |BSgom? &

(1) 30 m/s (2) 20 m/s (3) 10 m/s (4) 5 m/s
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119. A loaded gu-n of mass M fires a bullet of mass m with a velocity v at an angle of elevation
0. The gun is initially at rest on a horizontal frictionless surface. After firing, the center of
mass of the gun-bullet system

M—m)
M+
mv cos 0
(M+m)

v
(1) moves with a velocity in the horizontal direction

(2) moves with velocity

E)
m\rsinﬂj

M+m
ML':S:";-ST% £0A mﬁg&‘ R‘Joﬂcﬁn:&l 28 drars muﬁ:ﬁgc‘i e o¥ a:u@é.'ﬁ.} v

508" 0 63)8 Sndnd' LHTE. > FOr u¢ §82 HIr0SE P
S d Sodn dd 538, DS SdhHard dodr8-2098 e (BHgo3 (Bo(8d»

(3) moves with a velocity "{

(4) moves with velocity [

M —

[Il ) 608 L8=2 L5188 84S LHendiod
M+m

. mv cos 0 5

(2) (M+m) 508 ¥desdrod

(3) "(ﬁ;] S50 E¥dendiod

’ [mvsinﬁl
) M+m

] B0 EXieodiod

120. A solid sphere and a thin spherical shell of same radius rotate about their diameters with
same angular momentum but with different angular velocities. If M, and M, are the masses of solid

M
sphere and hollow sphere and if their angular velocities are in the ratio 1 : 2, then [M—'J is
2

8 TgIESn EOAS 28 Dod A¥dn of Mhoffdsdn o8 Fghdwe dlomr ud
S'efal (85g IASw, D93) S'das FAd00s® Fsomsn FakwSoyd1d. M, M, e

D05 B S, e Addoe (BSgorhoon o8 Sdah FHsne N%)8 1:2 wond

I|||I"|Il
®D pdo M. Dw 8
2
10 5 |
M 3 @ 3 3 3 @ 3
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CHEMISTRY
121. What is the volume (in mL) of 0.5 M NaOH required to prepare one litre of 0.2 M NaOH ?

2% Huds 0.2 M NaOH 35 Sc5rd:Tdinsd®d se50%s 0.5 M NaOH H59085rm0
(mLed®) Jod?

(1) 250 (2) 200 (3) 500 (4) 400
»

122. If the standard molar enthalpy of formation of CaO(s), CO,(g) and CaCO,(s) is =635, =393
and —1207 kJ mol™' respectively, the A H in kJ mol~! for the reaction
CaCO,(s) — CaOf(s) + CO,(g) is

Ca0 (90), COy (&™) Ho0asn CaCO, (e (Ddre JIroed doRam Jﬂ@*ﬂ_‘}m

S83bm 635, —393 %:805» 1207 k] mol”! eond,

CaCO,($2) — CaO($2) + COXa) $8g& A HO Kl mol'oc*

(1y -179 (2) 965 (3) 2235 (4) +179

123.1f the K_ of a sparingly soluble salt, A;B, in water is 1.08 x 10~ mol® L™, its solubility
in mol L™ is
u¥ wojorddch odwo, AB,S o) &5 e5* K.sp, 1.08 x 107 mol° L™ wond, o
ordedosod mol L os®

(1) 107 ) 107 (3) 1072 (4) 1.08 x 1072
’ X

124. At a certain temperature, for the equilibrium H,(g) + I,(g) = 2HI(g), if the equilibrium
concentrations in mol L™! are '

[H,()] = 0.20; [I,(g)] = 0.20; [HI(g)] = 2.0, its K. is
a¥ 202 aFfd 54 Hy(a) + L(=) —=2HI(z") ﬁ:ﬁau-’%:aé". D8 mgdo
mol L'os* [Hy(57)] = 0.20; [I(5%)] = 0.20; [HI(=")] = 2.0 wowd, od K
() 1 (2) 10 (3) 0.01 (4) 100
. X
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125. Hydrogen spectrum gave a series of lines at ‘;I;‘ ::I': d% -l (R = Rydberg constant
in em™"). These lines belong to
(1) Paschen series (2) Balmer series {BL Lyman series (4) Pfund series
R 3R 21R .-
b " a8 ——cm
IrEes $gdbo 6 16 S00%» oo $¢ Adeo (A adyod
(R=08 2§ Hoofdn cm”! ©¢®) & Ader B8 HowoHoDSD?
() Fas (A (2) wrBo6 (Fed
(3) BHS (A 4 RI (I

126. The ground state energy in J, of hydrogen atom is —X. The minimum energy in J, required
to promote an electron fromn=1ton =2 in He" is

@S D8Srmd PrPow 48 Jos' X . He' ¢ n=1 %08 n=2% Jogys
Blebletle Sohan8 u;‘.--’fgéaﬁa 53% 48 Teodst

4X 3X X
(1) 3X @ 5 & T @ 3

127. The metal which can form an oxide having metal : oxygen ratio 2 : 3 is
5o @ udyzldo D)8 2 @ 3 do 63383 I8ydd Sfhro
(1) Bi (2) Sn [3; Na (4) Ba
128. The first ionization enthalpies of N, O, F follow the order
N,O,Fo 3ud8 vwTnIEas Dnﬁiﬂsjm oSy |Fdodw
(1) F<O<N (2) O<N<F (3) N<O<F {4.}F*:N*':D

129. The dipole moment of BF, is zero because

(1) The electronegativity difference between boron and fluorine is more
(2) It is a covalent molecule
(3) It is a tetra atomic molecule

(4), It 1s having trigonal planar geometry

BFJ B3GR ([FrHofo Dend WD), JodEdm

() $°o°S, FOS0 Hogdg vww Idogord 88 Bar IS
(2) 28 HHTradohH vd)

(3) ad Troo DESTr@PLT) BEIY

4) ad (85 ddodo 2gdd EDANS )0
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130. Which one of the following is not correct ?
(1) Number of unshared electrons on the atom is also considered for calculation of formal
charge.
(2) Formal charges help in the selection of the lowest energy structure of molecule.
(3) Formal charges indicate real charge separation within the molecule.

(41‘ Formal charge of each atom of polyatomic ion can be calculated.
(Bod &ES* B DOTHHS 5767

(D) &85 F°00 B3 odhdH DESrmPH & &) Dok add Josgbod
8o GaTWrAIG

(2) 88 o ©3 $5)5 ¥3fo v Do) H8oUSerds 4O Trddderown
(3) &8S grion vPS* Je T8 AFeId SrdIow
4 27 DEIrmE VArSST) (98 DESrNH PFEE T8 B ousU)

131. Which one of the following statements is nof correct ?
(1) The kinetic energy of a gas is inversely proportional to temperature (in K).
(2) For ideal gases, compressibility factor, Z = 1 at all temperatures and pressures.
(3) Viscosity of a liquid decreases with increasing temperature.
(4) The order of root mean square velocity (U, average velocity (U_ ) and most probable
: velocity {Ump} of a gas is U i UI|I1ir b Ump.
& 1808 IBEnod” 0 JHITHHE 5787

(1) 28 orddn A8z48, ad g (KodhH)H ISt SrSodrdods® dotwod
(2) ) TS, Do HF v88) TBHoH Hodhdd Hm¥o, Z=1 vHEod
3) (B0 DYFS, sPHSS® DSBS Ien 28000 |

4) 2¥ ainy, Iro Sgo DA 3¢ Swre FAsw (U ) wdeSde (U)
So8dsn H8% DogrSger Ko (Upp) © E00, U >U =0,
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132. The gas that liquifies first, when cooled from 500 K to its critical temperature given in
parenthesis is
500K $:08, $08988m0d® adgadd Hodd s HEH TanHd ISOLSmd0
TdDde Bdd (EIYoSHdd
(1) O, (154.3 K) (2), NH, (405.5 K)
(3) CO, (304.1 K) (4) N, (126.0 K)

133. Three students namely A, B, C have done an experiment two times individually, for which

the correct value is 2.00 g. The results are given below

Experiment 1 Experiment 2
(8 (8)
Student A 1.95 1.93
Student B 1.94 2.05
Student C 2.01 1.99

Whose results are accurate and precise ?

A, B, C »d InH6 dovgdhes a8 DTy 2824m Todsdrds S w
DOrmrdE odw Jeod 2.00 g D04 deodew Sod adgwdID

@S 1 P @Beido 2
(2) (2
Jogd A 1.95 1.93
Qorgd B 1.94 2.05
2e7g C 2.01 1.99
230 (Tl dwodor TIHoMd, Ef-ﬁarian';ﬁa €T 0.
(1) C (2) B 3) A (4) Aand B

A S:8ci»n B
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(H,CCO),0 Br H

o »X : Y ——7Z
Pyridine 3,045~ H,CCOOH’ (Major)

134, NH

Identify X, Y and Z. | B
X, Y J08din Zedss 28 o HSw.
X Y Z
NREECH, NHCOCH, NH,
Br Br
(1)
Br Br
CflE"CI-[_.1 . ’EI'EH_,r
N-COCH, N~CDCH NHCOCH,
Br
NHCOCH, HHCDCH NHz
Br
NHCDCH N]—I:
NHCOCH,
@ x ? B Br, j _Br
Br
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NH OH
135. HSCCHICD?_H ﬂl > X = — Y
Whatare X and Y 7
¥ S38cin Yeo 227
X Y
(1). H3CCH1NH1 HJCCHECGIH
(2) HjC'CH:'I.‘,'l.'f.1‘1'~~llrl1 HSCCHICHICGEH
(3) HSCCHzt'JH H',:D[ZHzf.‘.ﬂ'[‘%lH1

(4) H,CCH,CONH, H,CCH,CO,H

136. Identify Z in the following reaction
Bod Hdgs® Zdo HofoRPdw

i) Ba(OH)

2 H,CCOCH, A S
HJ

(1) H,C—C=CHCOCH,

(2) H,CCH,COH

(3) 2H,CCO,H

(4) H,CCOCH,CO,H

137, H, H H
OH
OH

H
X Y Z
Identify X, Y and Z.
X, Y S0dw Zod Mlopdw.
X Y A

(1) Resorcinol Catechol 0-Cresol

OBy S BLE'S o-| 8>S
(2), m-Cresol Catechol Quinol

m-|8 S B 8eS'S
(3) Catechol Resorcinol Quinol

B08'S 80 S'S 8e5°S
(4) o-Cresol Resorcinol Catechol

o-3S ﬂé‘ﬂ:}ﬁ‘ﬁ' EHES
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138. The correct order of reactivity of the following iodides in S, 2 reaction is
§\2 S8gS” (808 oTr@ho TWwE) V0TI Worglod ($do

(i) H,CCH,CH,CH,I  (ii) (H,C),CI (iii) HJEEHE?HCHE‘
I
(1) (i) > (iii) > (i) (2) (i) > (i) > (iii)
(3)p (1) > (iii) > (ii) (4) () > () > (i)
139. O = C—NHNHCH(CH,),
‘ -

N

Drug (1)

Qo8 (1)
The above Drug (1) is an example of
(1) Antiseptic (2) Antacid (3) Analgesic (4) Antidepressant
» Hody D ---m--ee- ¥ dorrde
(1) 950 IS ES» (2) &b I6°FESn
(3) Sy At S LS (4) Frghoss V6 EES0

140. Which one of the following has two a-D-Glucose units ?

(1) Lactose (2) Maltose (31 Sucrose (4) Cellulose
808 &8S° 26 Todd a-D-Ars'sE dorded 0N ABNDHB
(1) o§'E 2) Srg'E (3) H5°E 4) DoogstE

141. Identify the addition polymers from the following
(i) Terylene (i) Polypropene (ii1) Polyacrylonitrile (iv) Nylon 6
(v) Polyvinyl chloride
|8od T8S* Lo¥eold JOZBod Hr8oPdw
(i) BOOS (ii) SO>S (iii) FOIZ 95°3B9S (iv) Bord 6 (v) FOIZS §° 86
{J] (1), (iv) (2) (i), (i), (v)  (3) (i), (ii) (4) (), (iv)
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142. Which one of the following complexes has more magnetic moment value ?
Fod “o3drod’ TIE &S edhd)od [FH€ Jood Lod?

(1) [CoF]*" (2) [Fe(CN)J*- ®) [Co(NH,)I** (4) [Fe(H,0)**

143. For the first row transition metals, the E° values are
E® A\ Cr Mn Fe  Co Ni Cu
(M¥*/M)  -1.18 090 -1.18 044 —028 025 +0.34
What is the reason for the non-regularity in the above values ?
(1) the variation in densities of transition metals
(2), non-regular variation of ionisation enthalpies
(3) different number of electrons present in M?* ions
(4) non-regular variation of ionic radii
Bodd 1_741:5 DODES S*5%e E° Deoden Bod ddorr GT") 0D
EY \' Cr Mn Fe  Co Ni Cu
(M*/M) -1.18 -090 -1.18 044 —028 —025 +0.34
P dwdo a¥ FHod® TEFS@IE sEwo A2
(1) 83835 Swrosto JoBSS® Srdyw
(2) BoHECn Jogrdyust Sr) a8 % DEaS' TEdBdo
(3) M* wdrSos Qs "J:uq:gé“ Jug‘jﬁmuﬁibu
(4) wddrof a‘g:ﬂig‘uﬁ‘ Srdoy 8 |F5 ‘égﬂcﬁ" vEd*Sdo

‘144.In which one of the following reactions, a 16 group element will get precipitated ?

(8o® @ S8t 16 $ (K05 Swrofo ©3FEDS5HS087?

(1) 80, +2H,0 + Cl, — {2)., Na, 50, + Cl, + H,0 —
(3) Na,S,0, +Cl, + H,0 — (4) 2FeSO, + H,S0, + Cl, —>
Rough Work
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145. Match the following

List-1 List-I1
Oxoacids of Phosphorous Oxidation State of Phosphorous
(A) Meta Phosphoric (N +4
(B) Pyro Phosphorous (II) +1
(C) Hypo Phosphoric (IIT) +2
(D) Hypo Phosphorous (IV) +3
(V) +5
Fod oo adddodidw
ardor-1 rae=-I1
?:&;,55 uEuLb é".'b;)dﬁ ugaﬁﬁm 28
(A) Doer 08 () +4
(B) =& q?v'::-gt'if:- (I +1
(C) = @*ﬂ'gﬁg (IIT) +2
(D) @*ﬁq}ﬁﬁ (IV) +3
(V) +5

The correct match is

2d VOIS DITFTTISW
(A) (B (C) (D)

(n, vy avy @

(2) (V) ((av) an (@

(3) (V) (i) () (i)
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146. CaCO,MgCO, —2 5 X + Y + Z
What are X, Y and Z in the above reaction ?

= 1515%‘6‘ X, Y 50080 Z o 227
¢ Y Z

(1) CaCO, MgO  CO,

(2) CaO = MgCO, CO,

(3% CaO  MgO  2CO,

4) Ca Mg 2C0,

147. The order of coagulating power of PO;~, SO}, and CI” in the coagulation of a positive sol is
28 $oBd IS vpo8S0st, POJ, SOT Bo8asm ClI” © Hpodd Isodg (Edo0

(1) SO¥ > CI" > PO} 2) PO} >S0>>cCr
(3) €I =807 > PO (4) CI" > PO; > SO%"
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148. Assertion (A) : The rate law of a reaction cannot be predicted from its balanced chemical
equation, but must be determined experimentally only.
Reason (R) : The order of a reaction is always an integer like 0, 1, 2 and 3.

The correct answer is

(1) (A) is correct but (R) is not correct

(2) (A) and (R) are correct, (R) is not the correct explanation of (A)

(3) (A) and (R) are correct, (R) is the correct explanation of (A)

(4) (A) is not correct but (R) is correct

J850 (A) : eE S8 Tdn :'::ﬁbﬁﬁw‘;}l Ef:ﬁirrré&ﬁﬂn' ;5:1@533 DEonoWIDTRMr
ol dogo Sddondd araid d¥dmo Si0d Dg"ﬂﬂﬁﬁém,

ople{aTs) {!El} 1 a8 SovglEdrofdn Jopd 0, 1, 2, 3 58 ¥ Yroofo.

20 VOO VDIrgrddn

(1) (A) I&ﬂﬁ:ﬁ&, 5 (R) 20 Chab 57

(2) (A) ;‘::Ett:ﬁ:u (R) en :f:ﬂﬁ.'::fsﬂ (A) £ (R) D000 258w s7&

(3) (A) $H28d» (R) oo mﬂ@a?ﬁﬂ. (A) & (R) mﬂ@a:& dadm

(4) (A) S05D1AB 578, 57 (R) [00HJL

149. The conductivity of 0.01 mol L™ KCI solution is 1.41 x 10~ § cm™'. What is its molar
conductivity (in S cm? mol™) ?

0.01 mol L™! KCI (SR FTEgo 1.41 x 107 Sem™. o2 3rerb S Edeo
(S em® mol™! 0®) Dod?

(1) 141 2) 14.1 (3) 1.41 @) 1410

150. An aqueous sucrose (molar mass = 342) solution is labelled as 20% w/w. What is the mole
fraction of water in this solution ?

2.€ MLE“&‘? (Freerb |BSgord = 342) z=o Lﬂ‘&‘.‘rﬂ‘ﬁl 20% wiw ™ ardoard). &
S @od® A8 Brd i Dos?

(1) 0.945 (2) 0.955 (3}' 0.987 (4) 0.961

151, The density of 20% (w/w) aqueous KI solution is 1,202 g mL~', What is its approximate
molality ? (molar mass of KI = 166)
20% (wiw) Kl 2o |orden) Jro|dd l.lﬂlgmL'l. 0" GETOWOR) Brordd Jod?
(KI @ng) 3re~d S5g073 = 166)
[IJ 2.5 m (2) 0.5 m (3) 1.5m (4) 0.15m
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152. A compound is formed by elements ‘X’ (cations) and ‘Y’ (anions). lons of *Y” form cubic
close packing (ccp) and ions of “X’ occupy all the octahedral voids. What is the molecular
formula of the compound ?
2f dorgdn, Sroster X (SodrSo) $0d» Y (e3drSoos’ 283808,
Y To¥) wdrSo D) d HoSErdy (cep) 8 )EEm, X T edirSo
U |ES So(grod)old eEoBHTow. Horddn Tk wmoFE o D8 7
(N XY (2) XY, (3) XY (4; X,Y,;

~ 153. Which one of the following statements is correct ?
(1) Cyclohexadiene is an aromatic compound
(2) Deactivating groups are ortho and para directing groups

(3), Reaction of benzene with 1-chloropropane and anhydrous AICI, gives n-propylbenzene
(4) Electrophilic substitution of benzene takes place via o-complex
Bod JEdmos® 28 HOTHIHE?

(1) 258 B&6S o8 ubdrss ‘r’aﬁal#:&u
(2) AHEzE SIrSFteo ug‘ $0d5n o Fd DT AL DIarSten

(3) BofSXo 1-§°6"1@* 0] HoddSw Ao AlCLeS Sdg 202XV pd 1| F S
BoEad amod

(4) BoBIS" 0§ HHOS (HATDIe Wy o-vofho ogo 2dihEod

154. Which one of the following statements is not correct ?
(1) Electrolysis of sodium acetate gives methane.
(2) Alkanes undergo halogenation by free radical mechanism.
(3) Ethane exhibits conformational isomerism.
(4) Sodium acetate on heating with soda lime gives methane.
808 DiEnoS”® B HOTHIE 5787
(1) 3800 0BG ISogdgFand® NFISH adod
(2) Hﬁaﬁtﬁa 4:»33?;1"‘:, (8D Sorg dordo orgo TStungdno VodieTow
(3) 180 vldrd Frdyfgod (H80N00
(4) Fdoho I2WLEL FerDSes I8 TH NBIH adyod
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155. The IUPAC mIFI of the following compound is

(1) 5-oxo0-2-methyl-hexan-3-ol
(2} 4-hydroxy-5-methyl-hexan-2-one
(3) 2-ox0-5-methyl-hexan-4-ol
(4)s 3-hydroxy-2-methyl-hexan-5-one

800 vFoy¥S0 TWwE) IUPAC ardvo
H

(1) 5-w8y-2-0JS-3)8-3-45
(2) 4-:::-*1_:!‘53—5—ﬂ:@ﬁ-ﬂmiaﬁ-}t.ﬁ
(3) 2-08)-5-0BS-rT)8-4-46
(4) 3-3(@8y-2-D0BS-" B35 -5-43

156. What are the heights (km) from the sea level for Troposphere and Stratosphere ?

(1) 10—20 and 1—10 (2) 5 and 10—50

(3) 10 and 10—50 (4) 10—30 and 5—10

S0 Hho H0d |S'FEEmo HHodsn FIT'SImre Ido (km) Jod?
(1) 10—20 H008n 1—10 (2) 5 $2005x 10—50

(3) 10 $5808» 10—50 (4) 10—30 So8 05 5—I10

157. What is the catalyst used in the following reaction ?

. Catal .
2CH,Cl + Si —ggp— (CH,), SiCl,

(1) Nickel powder (2) Copper powder
(3) Zinc powder (4) Platinum powder
Bod asgwdd ﬁﬂé:ﬁ‘ adTWrAods ady9d¥o 2B?

. Ga8y38%0 2
IEHJEI + Si NE {Cl-lj}z Slﬂlz
() 85 2&d (2) s*26 &d
(3) 2085 2rd 4) 830 &
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158. What is the nature of aqueous borax solution ?

(1) Neutral (2) Acidic (3) Alkaline [41 Amphoteric
S0Ey zomrdno (D)8 JNE?
() 803 (2) w5 3) 506 (4) Bgrgaed

159. Which lithium halide is soluble in pyridine ?
DOASS 8 D@dloo FBE 87
(1) LiBr (2) LiF (3) LiCl (4) Lil

160. Hydrogen resembles alkali metals in many aspects but differs in
(1) Halide formation (2) Metallic characters
(3) Oxide formation (4) Sulphide formation
DE'es Tor $8H ST DLl L306HB08 =) TS 2Fod)
Srbdos?
() H#BGod 8 ES0O
(2) ﬁﬁﬁ"#a'luﬁﬁa DA dodbo
(3) u3bod A88Wbo
;5] :::g;,ﬁq:m DEyEEbo
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